UGC NET 2021 Education Shift 1

Topic:- 03rd_Set7_A

1) The following Table-I shows the Sales and Earnings of ABC Corporation in the last
elght wvears from 2013-2020. and Table-II shows the percentage of Sales in four
different categories in the vear 2020. Based on the data in the tables. answer the

guestions :
Table — I : Year—wise Sales and Earnings
Year | . ales _ Earnings
(in Rs. Billion) | (in Rs. Million)
2013 3 500
2014 G 900
2015 3 200
2016 i 400
2017 b 700
2018 9 800
2019 8 700
2020 10 GO0
Table — II : Categorv-wise sales in the vear 2020
Category Percentage (%) of Sales
Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

What is the average (in T billions) of the sales of ABC Corporation for the period 2013-20207
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[Question ID = 2579][Question Description = Q01_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10313]
2. 2 [Option ID = 10314]
3. 3 [Option ID = 10315]
4. 4 [Option ID = 10316]

Correct Answer :-
e 1 [Option ID = 10313]

2) The following Table-I shows the Sales and Earnings of ABC Corporation in the last

elight wvears from 2013-2020. and Table-II shows the percentage of Sales in four
different categories in the vear 2020. Based on the data in the tables. answer the

gquestions :
Table — I : Year—wise Sales and Earnings
Year | . Sales _ Earnings
(in Rs. Billion) | {(in Rs. Mallion)
2013 3 500
2014 G 900
2015 3 200
2016 fi 400
2017 b 700
2018 9 800
2019 8 700
2020 10 GO0
Table — II : Categorv-wise sales in the vear 2020
Category Percentage (%) of Sales
Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

For which vear was the percentage (%) increase in earnings from the previous vear highest?
(1) 2014 (2y 2015

(3) 2016 (4y 2017
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[Question ID = 2580][Question Description = Q02_GP_24NOV_S1_SHAAN_Shift1]



1 [Option ID = 10317]
2 [Option ID = 10318]
. 3 [Option ID = 10319]
4 [Option ID = 10320]
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Correct Answer :-
e 1 [Option ID = 10317]

3) The following TableI shows the Sales and Earnings of ABC Corporation in the last
eight vears from 2013-2020. and Table-II shows the percentage of Sales in four
different categories in the vear 2020. Based on the data in the tables, answer the

questions :
Tahble — I : Year—wise Sales and Earnings
Year | . Sales _ Earnings
(in R=. Billion) | (1in Rs. Mallion)
2013 3 500
2014 G 900
2015 3 200
2016 7 400
2017 b 700
2018 9 800
2019 8 700
2020 10 G600
Table — II : Categorv-wise sales in the vear 2020
Category Percentage (%) of Salez
Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

What was the ratio of earnings to sales in 20157
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[Question ID = 2581][Question Description = Q03_GP_24NOV_S1_SHAAN_Shift1]



1 [Option ID = 10321]
2 [Option ID = 10322]
3 [Option ID = 10323]
4 [Option ID = 10324]
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Correct Answer :-
e 1 [Option ID = 10321]

4) The following TableI shows the Sales and Earnings of ABC Corporation in the last

eight vears from 2013-2020. and Table-II shows the percentage of Sales in four
different categories in the yvear 2020. Based on the data in the tables, answer the

questions :
Table — I : Year—wise Sales and Earnings
Year | . Sales _ Earnings
(in R=. Billion) | (1in Rs. Mallion)
2013 3 500
2014 [§] 900
2015 8 200
2016 7 400
2017 5 700
2018 9 300
2019 8 700
2020 10 G600
Table — II : Categorv-wise sales in the vear 2020
Category Percentage (%) of Salez
Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

Which of the following statements can be deduced from the data given in the Tables I and II?
(A) Sales of Smartphones in the vear 2020 exceeded total sales in the year 2013.

(B) Earnings for the year in which earnings were highest were more than the sales for the
year 1In which sales were lowest.

(C) If in the year 2020, the sales of Smartphones had been 10% less, and the sale of
Computers had been 10% higher. then the sales of Smartphones would have been less
than the sales of Computers.

Choose the correct answer from the options given below :
(D (A) only (2) (A) and (B) only
(3) (A) and (C) only 4) (C)only
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[Question ID = 2582][Question Description = Q04_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10325]
2. 2 [Option ID = 10326]
3. 3 [Option ID = 10327]
4. 4 [Option ID = 10328]

Correct Answer :-
e 1 [Option ID = 10325]

5) The following Table-I shows the Sales and Earnings of ABC Corporation in the last
eight vears from 2013-2020. and Table-II shows the percentage of Sales in four
different categories in the year 2020. Based on the data in the tables. answer the

questions :
Table — I : Year—wise Sales and Earnings
Year | . Sales _ Earnings
(in R=. Billion) | (in Rs. Million)
2013 3 500
2014 [§] 900
2015 8 200
2016 i 400
2017 b 700
2018 9 800
2019 8 700
2020 10 GO0
Table — II : Categoryv-wise sales in the yvear 2020
Category Percentage (%) of Salea
Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

What 1s the sum total (in ¥ millions) of the earnings of ABC Corporation for the period
2013-2019?

(1) 43800 (2) 4200
(3) 4000 (4) 5000
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[Question ID = 2583][Question Description = Q05_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10329]
2. 2 [Option ID = 10330]
3. 3 [Option ID = 10331]
4. 4 [Option ID = 10332]

Correct Answer :-
e 1 [Option ID = 10329]

Topic:- 03rd_Set7_B

1) Which of the following level of teaching lays stress on critical sifting of ideas at the highest
cognitive level?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level
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[Question ID = 2584][Question Description = Q06_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10333]
2. 2 [Option ID = 10334]
3. 3 [Option ID = 10335]
4. 4 [Option ID = 10336]

Correct Answer :-
e 1 [Option ID = 10333]

Which of the following are the highest taxonomic categories in the cognitive. affective and
psychomotor domains of learning?

(A) Analysis

(B) Evaluation

(C) Awareness

(D)  Characterization

(E) Naturalization

Choose the correct answer from the options given below :
(1) (A). (B) and (C) only (2) (B).(D)and (E) only
(3) (B). (C) and (D) only (4) (C). (D) and (E) only
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[Question ID = 2585][Question Description = Q07_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10337]
2. 2 [Option ID = 10338]
3. 3 [Option ID = 10339]
4. 4 [Option ID = 10340]

Correct Answer :-
e 1 [Option ID = 10337]

3) Match List I with List IT
ListI List IT
Helping behavior of effective teaching Description

(A) Using student ideas of contributions (). Warm and nurturing relationship with
learners

(B) Structuring (IT) Teacher statements to encourage
students to elaborate on an answer

(C) Probing (ITI} Teacher comments for the purpose of
organizing what is to come

(D) Teacher affect (IV) Taking a student's response and
repeating or applying it

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(1I). (C)-(ID), (D)-(I)
(2) (A)-(D). (B)-(1I), (C)-(11I). (D)-(IV)
(3) (A)-(ID), (B)-(I), (C)-(IV). (D)-(I1I)
(€Y (A)III), (B)-(IV). (C)-(I). (D)-(1D)
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(3) (A)-(IT). (B)-(I). (C)-(IV), (D)-(III)

(4} (A)-(TIT). (B)-(IV). (C)-(D). (D)-(1T)
[Question ID = 2586][Question Description = Q08_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10341]

2. 2 [Option ID = 10342]
3. 3 [Option ID = 10343]



4. 4 [Option ID = 10344]

Correct Answer :-
e 1 [Option ID = 10341]

4)  Given below are two statements :

Statement I: In norm-referenced testing of students. test data helps us determine a

students place or rank.

Statement IT: In Criterion-referenced testing. the test data tells us about a student’s level

of proficiency.
In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement IT 1s false

4) Statement I 1= false but Statement II 1= true
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[Question ID = 2587][Question Description = Q09_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10345]
2. 2 [Option ID = 10346]
3. 3 [Option ID = 10347]
4. 4 [Option ID = 10348]

Correct Answer :-
e 1 [Option ID = 10345]

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A): Modern and ICT based teaching support requires some technical

knowledge on the part of the teacher and learner.

Reasons (R) : Both teachers and learners have to be provided orientation in use of the

various support tools and techniques in an intelligent way.



In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are true and (R) 1= the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 1s true but (R) is false

(4) (A) 1= false but (R) 1s true
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[Question ID = 2588][Question Description = Q10_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10349]
2. 2 [Option ID = 10350]
3. 3 [Option ID = 10351]
4. 4 [Option ID = 10352]

Correct Answer :-
e 1 [Option ID = 10349]

6) Which of the following iz an example of qualitative research?

(1) Experimental research (2) Ex post facto research

(3) Descriptive survey research (4) Grounded theory rezearch
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[Question ID = 2589][Question Description = Q11_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10353]
2. 2 [Option ID = 10354]
3. 3 [Option ID = 10355]
4. 4 [Option ID = 10356]

Correct Answer :-

e 1 [Option ID = 10353]

Identify from the list below the threats to internal validity of research.
(A) Interaction of zelection and independent variable (X)
(B) Statistical regression

(C)  Interaction of pretesting and X



(D)  Differential selection of subjects

(E)  Experimental mortality

Choose the correct answer from the options given below :
(1) (B). (D) and (E) only (2)  (A). (B) and (C) only
(3) (B). (C) and (D) only {(4) (C). (D) and (E) only
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[Question ID = 2590][Question Description = Q12_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10357]
2. 2 [Option ID = 10358]
3. 3 [Option ID = 10359]
4. 4 [Option ID = 10360]

Correct Answer :-
e 1 [Option ID = 10357]

8) Match List I with List IT
ListI List IT
Research Steps Characteristics
(A) Research problem definition ()  Appropriateness of techniques and
their application
(B) Formulation of research hypothesis (IT) Development of a conceptual
framework which is in accord with
hypothesis of research
(C) Design of research (III) Defining the variables to be related in
unambiguous terms
(D) Data Analysis (IV) Academic and social value of the
research question to be weighed
Choose the correct answer from the options given below :
(1) (A)-(I1D), (B)-(IV), (C)-(D). (D)-(ID)
(2) (A)-(IV), (B)-(I1I). (C)-(I1I), (D)-(D)
(3 (A)-(T). (B)-(ID), (C)-(I1L), (D)-(IV)
(4) (A)-(11). (B)-(I), (C)-(IV). (D)-(I1I)
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{4) (A)-(IL). (B)-(I). (C)-(IV). (D)-(I1I)

[Question ID = 2591][Question Description = Q13_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10361]
2. 2 [Option ID = 10362]
3. 3 [Option ID = 10363]
4. 4 [Option ID = 10364]

Correct Answer :-
e 1 [Option ID = 10361]

Given below are two statements :

Statement I: Scientific research 1z systematic. controlled. empirical and critical

investigation of hypothetical propositions.

Statement IT: Population of research need not be defined in qualitative and guantitative

researches.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement Il are false
(3) Statement I is true but Statement IT is falze

(1) Statement I is false but Statement II is true
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[Question ID = 2592][Question Description = Q14_GP_24NOV_S1_SHAAN_Shift1]



1 [Option ID = 10365]
2 [Option ID = 10366]
3 [Option ID = 10367]
4 [Option ID = 10368]
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Correct Answer :-
e 1 [Option ID = 10365]

10)  Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :
Assertion (A):  Actual settings are the direct source of data and the researcher is the key
instrument in qualitative research.
Reasons (R) : The purpose underlying qualitative researches iz relatively more directed

at depiction of reality rather than arriving at context free generalizations.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (4)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true
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[Question ID = 2593][Question Description = Q15_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10369]
2. 2 [Option ID = 10370]
3. 3 [Option ID = 10371]
4. 4 [Option ID = 10372]

Correct Answer :-
e 1 [Option ID = 10369]

In describing elements of communication. a person or an event which provides verbal or
non-verbal use to which someone can respond is known as.

(1) Message (2) Source
(3) Channel (4) Communication context
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[Question ID = 2594][Question Description = Q16_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10373]
2. 2 [Option ID = 10374]
3. 3 [Option ID = 10375]
4. 4 [Option ID = 10376]

Correct Answer :-
e 1 [Option ID = 10373]

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A):  Apgenda building is a collective communication process in which media,
government and the citizenry reciprocally influence one another.

Reasons (R) : Agenda building presumes cognitive effects and inactive audience with less
socletal-level effects.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are true and (R) 1= the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 13 NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1= false

(4) (A) is false but (R) is true
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[Question ID = 2595][Question Description = Q17_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10377]
2. 2 [Option ID = 10378]
3. 3 [Option ID = 10379]
4. 4 [Option ID = 10380]

Correct Answer :-
e 1 [Option ID = 10377]

Given below are two statements :

Statement I: The art of Mass Communication 1s much more simple than of face to face

communication or any type of communication.

Statement II : Each of us uses 35S (Sight, Sound and Smell) and 2T (Touch and Taste) when

we communicate with others.

In the light of the above statements. choose the most appropriate answer from the options



given below :

(1) Both Statement I and Statement IT are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but Statement II is incorrect

(4) Statement I is incorrect but Statement I is correct

= 2w fEr T E

Fud (I): S8R =i Tl gEE JUar 3 s R T ween Ry sear Al e 2

FyA (D) : 9 =9 36 % T1Y TU9Y FAd 7 296 F JoIF 3S (32, T 30 ) qu 2T (399 SR =)

T TN AT 2 |
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[Question ID = 2596][Question Description = Q18_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10381]

2. 2 [Option ID = 10382]

3. 3 [Option ID = 10383]

4. 4 [Option ID = 10384]

Correct Answer :-

e 1 [Option ID = 10381]

Feedback reflects the reactions of the audience when :

(A) One knows the effects of communieation.
(B) One knows the quality of content of the message.
(C) One knows the future prospect of the object of communication.

(D) One knows the financial implications of the communication.

Choose the most appropriate answer from the options given below :

(1)  (A). (B). (D) only (2)  (B). (D). (C) only
(3)  (A). (C). (D) only @ (A). (B). (C) only

qAHETE (Figsi) A =i afdiwAT ® i 2 =

(A)  HIE TG F T B TG

(B) I Tew F fawaaeg 1 e S 2

(C) =15 |y 1 g & Wi i GEATE H A 2
(D) =HiS TN % AT HiEaTd B S E |
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(1) %= (A), (B). (D) (2) Fadt (B). (D). (O)

(3) FaA (A). (C). (D) (4) Fael (A), (B). (C)

[Question ID = 2597][Question Description = Q19_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10385]
2. 2 [Option ID = 10386]
3. 3 [Option ID = 10387]
4. 4 [Option ID = 10388]

Correct Answer :-

e 1 [Option ID = 10385]

The power which comes through connectedness of one’s words matching one's feelings, body
and facial expression In communication process 1s known as :

(1) Conformity (2) Congruence

(3 Collaboration (4) Control

(1)  =EHETD (2) =TT

(8)  =EEiE 4

[Question ID = 2598][Question Description = Q20_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10389]
2. 2 [Option ID = 10390]
3. 3 [Option ID = 10391]
4. 4 [Option ID = 10392]

Correct Answer :-
e 1 [Option ID = 10389]

The owner of a mobile phone charges his customer 25% more than the cost price. If a
customer paid 8,000/- for a mobile phone. then what was the cost price of the mobile?

(1)  Rs. 5600 (2) Rs. 6000
(3)  Rs. 6400 (4) Rs. 7000

ATzl BIH =1 FTHl W § A0 god 1 26% ATGF odl ¢ | T Aew 4 qerEel B4 5 o 8,000/-
T F P T, T AR A ged T4 917

(1) 5600/ %70 (2) 6000/- 79T
(3)  6400/- F07 (4) 7000/ Fum

[Question ID = 2599][Question Description = Q21_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10393]
2. 2 [Option ID = 10394]
3. 3 [Option ID = 10395]
4. 4 [Option ID = 10396]

Correct Answer :-
e 1 [Option ID = 10393]

17) .
In the letter seres
B-H.RFE. . o
What 1s the next letter?
(1) L 2 Z
(3) P 4 X
B.H,R.F. ... ...... & &0 | ¥ 315 FH-91 27
(1) L 2 Z

3 P 4 X



[Question ID = 2600][Question Description = Q22_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10397]
2. 2 [Option ID = 10398]
3. 3 [Option ID = 10399]
4. 4 [Option ID = 10400]

Correct Answer :-
e 1 [Option ID = 10397]

Given the relationship between variables Y and X : Y = X% if X changes by 6%, What is the
percentage change in Y?

1 ~36% @ ~12%
3 ~8% @ ~6%

Y o X #ff9 1 #99 Y= X2 % =16 2| 70 X H 6% F ofadq 7, @ Y 7 ufoew (%) afEd wn

7m?
1 ~36% @ ~12%
@ ~8% 4 ~6%

[Question ID = 2601][Question Description = Q23_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10401]
2. 2 [Option ID = 10402]
3. 3 [Option ID = 10403]
4. 4 [Option ID = 10404]

Correct Answer :-
e 1 [Option ID = 10401]

19) A man travels in a car from point A to point B and covers a distance of 120 km. During the

first 40 km, the speed of his car 1s 50 km/hr and for the rest of journey the speed of his car 1s
60 km/hr. What 1s the average speed of his car from point A to point B?

(1) 55 km/hr (2) 54.25 km/hr

(3) 56.25 km/hr (4) 58.25 km/hr

uF e fog A4 g B % o9 120 feier 1 gl 1 @ 79 # 2 | 3P0 Ueet 40 ez % 2H
saehl R i G 50 fReidier ufa @ i 3 o 30 % forw 60 Theifiex wfagan, =1 fog A @ fog B o=
SHH] A I FHG T F4 AT

(1) 55 fFHLET (2) 54.25 5. /G
(3)  56.25 fF. 4. fam (4) 58.25 5.1 /62

[Question ID = 2602][Question Description = Q24_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10405]
2. 2 [Option ID = 10406]
3. 3 [Option ID = 10407]
4. 4 [Option ID = 10408]

Correct Answer :-
e 1 [Option ID = 10405]

20) In the series
1,3.6,10, .........
What 1s the next term?
(1) 12 2y 15
(3) 18 4y 20
1.3.6. 10. ......... = %9 | 31 3AF 2O
[h) 12 @ 15
(3 18 4 20

[Question ID = 2603][Question Description = Q25_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10409]
2. 2 [Option ID = 10410]
3. 3 [Option ID = 10411]



4. 4[Option ID = 10412]

Correct Answer :-
e 1 [Option ID = 10409]

21 Which of the following options are true regarding inference with reference to classical Indian
system of logic?
(A) It 1s deductive
B) It 1s inductive
(C) It has to be formally valid
(D) It has to be materially true
Choose the correct answer from the options given below :
(1)  (A). (B) and (D) only (2) (A). (B) and (C) only
(3)  (A). (C) and (D) only (4) (A). (B). (C) and (D) only

T W F URAE A g F SR A % wEeg § FeEeEd fawedl § H e w2 7

Q) =7 T
(B)  T= AFTEHATTF 7 |
(C)  =® #y=Tivs =9 ¥ 49 =1 =1ET |

(D) T FE9E E9 ° A BT =0 |

= fau o fempeai o o @@ I 0 == FifE
(1) === (A), (B) w7 (D) (2) Fa9 (A), (B) ¥R (C)
(3)  Fae (A), (C) 71 (D) @ (A, (B). (C) 7 (D)

[Question ID = 2604][Question Description = Q26_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10413]
2. 2 [Option ID = 10414]
3. 3 [Option ID = 10415]
4. 4 [Option ID = 10416]

Correct Answer :-
e 1 [Option ID = 10413]

The collection of all the objects to which a term may correctly be applied is called :
(A) The intension of that term

(B) Connotation of that term

(C) The extension of that term

(D) Denotation of that term

Choose the correct answer from the options given below :
(1) (A) and (B) only (2) (B)and (C) only
(3) (A) and (D) only (4) (C)and (D) only

3 HH Al # HuE e e v ug o wE ' 0 = 6 9 Al 2, Faerd 2
(A)  3F 92 = Y
(B) 39 U3 T =&Y
(C) 39 98 = ==ad

(D) 3T g A=A



A4 T80 M0 T=-hedl 3 | Hel 39% =/ =49 =hi4Y, :
(1) === (A) A (B) 2y Faa (B) #R (C)

(3) A (A) 3T (D) (4) a4 (C) =7 (D)

[Question ID = 2605][Question Description = Q27_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10417]
2. 2 [Option ID = 10418]
3. 3 [Option ID = 10419]
4. 4 [Option ID = 10420]

Correct Answer :-
e 1 [Option ID = 10417]

“The Daily News carried an article this morning about some local teenagers who were
arrested on charges of drug possession. Teenagers these days are nothing but a bunch of
Jjunkies”,

Which fallacy is committed in the above statement?

(1) Red Herring

(2) Strawman

(3 Argument against the person (ad hominem)

(4) Hasty Generalization

SR TEER 0 TS HEE U o A (A F9 TUHE FRIRD S A1e el 9arl R W & A 5

Frwam fohe 7T o7 | AT & TR SR B T 9w 3 % @ 2| IugHd HeE H FHH °1 Eeardas B 7
(1) =
@ T

(3) =afa & faug o (Us =ifwam)
(4) =i A=

[Question ID = 2606][Question Description = Q28_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10421]
2. 2 [Option ID = 10422]
3. 3 [Option ID = 10423]
4. 4 [Option ID = 10424]

Correct Answer :-
e 1 [Option ID = 10421]

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A):  The Naivayikas did not give separate treatment of the inductive methods,

as the western logicians have done.

Reasons (R) : According to Nyaya school universal propostions are obtained from

perception itself by one of the forms of extra-ordinary perception.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1= the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (4)
(3) (A) is true but (R) is false

(4) (A) 1s false but (R) is true

= 31 Fo fou o # . v wfiees (Assertion A) F w9 H fHAfiga 2 a1 350 6% FEO (Reason R) #

=g



ATGFI (A) : AT F AT TN H IO W1 T5 41 7 S 6 e a9 Wi |

lERIEA
07 (R) : = 1 e e T o O 1 £ B e ) e e [ 1 o e e e O [ 1 e B R
A F S 2

IYRE U o A H, 919 A e faEeTl § § "l 3 1 5EE 0

(1) (A) 3 R) 3 &7 F 30 (R), (A) F w8 =wen 2|

@ (A FR R) A T3 E A (R), (A) T TE = = R
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@ (A 75F 2 = (R) T 7

[Question ID = 2607][Question Description = Q29_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10425]
2. 2 [Option ID = 10426]
3. 3 [Option ID = 10427]
4. 4 [Option ID = 10428]

Correct Answer :-
e 1 [Option ID = 10425]

Given below are two statements :

Statement I: Sesavata is the inference of what remains (sesa) by elimination of the
wrelevant.

Statement I1 : éesavata inference corresponds to the method of residues in western
inductive loglc.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3 Statement I is true but Statement II is false

(4) Statement I is false but Statement I 1= true

Fra g A fm o

FYH (I): =99, SIS & Hel9q & 1 g=a1 7 T S199H 7 |

o (I1) : 919 ATAME TIT=1ed AVTHATHS THoE H A9 i Tored! @ 0o @i # |

TUERF F9F F o 5, T4 &5 T fGwen § ¥ 5E 39 @ 9 i

(1) =EIARISA AR |

(2) FF I3R I 2F 39 2 |

(3)  ®F [&e 2, «iid 5u [ 3784 2 |

(4) oA [ AGT 3, ok w9 [LOeg 2 |
[Question ID = 2608][Question Description = Q30_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10429]
2. 2 [Option ID = 10430]

3. 3 [Option ID = 10431]
4. 4 [Option ID = 10432]



Correct Answer :-
e 1 [Option ID = 10429]

26
) When a computer is switched on, the BIOS is loaded from :
1) Hard Disk (2 RAM
(3) ROM (4 CD-ROM

7@ T Foger i e o1 B = 2 @ BIOS Fefeiad § § e =i e 5 27

(1) = %% (2)
(3 W (4) HE—m

[Question ID = 2609][Question Description = Q31_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10433]
2. 2 [Option ID = 10434]
3. 3 [Option ID = 10435]
4. 4 [Option ID = 10436]

Correct Answer :-
e 1 [Option ID = 10433]

Identify the correct order of the following computer storage capacities ranked from largest to

smallest capacity.

(A) 100 GBytes

(B) 10 000 000 000 Bytes
(C) 1 TBytes

(D) 1000000 KBytes

Choose the correct answer from the options given below :
() (0. (A). D) (B (2) (O). (). (B). (D)

3 (A).(0).D.(>B @ (@A) (©). [B). D)

Frfetfiad Fooger w0 amatst @ Tad SifdE & Ted B AEal F o8 HE A fated Hiw |
(A) 100 = =re2

(B) 10 000 000 000 =32

(© 1imame

(D) 1000 000 = =2

= fau o faeTt @ O wE I w9 Fie

(1)  (C). (A). (D). (B) (2) (C). A). (B). (D)

(3) (A). (C). (D). (B) 4 A.(©). 1. D



[Question ID = 2610][Question Description = Q32_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10437]

2. 2 [Option ID = 10438]

3. 3 [Option ID = 10439]

4. 4 [Option ID = 10440]

Correct Answer :-

e 1 [Option ID = 10437]

Given below are two statements:

Statement I: Search Engines are websites that help a user to search for information on

WWW.

Statement II : For any search term. Search Engines provide the exact same results to all

the users.

In the light of the above statements. choose the corrrect answer from the options given

below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement IT is false

(4) Statement I is false but Statement II is true

= 21 FeE ffn e E

FuH (I): @ S99 d9H152 2 S uFigdr B WWW O ST O i § gerEdar o4 7 |

Fom (ID) : el o= =0 = o0, =9 259 avft w1 foege veme i 2 2
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(2) @ I HR I3 37T 7 |
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(4  ®uA I 35 2, o waa [ aea 21

[Question ID = 2611][Question Description = Q33_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10441]
2. 2 [Option ID = 10442]
3. 3 [Option ID = 10443]
4. 4 [Option ID = 10444]

Correct Answer :-

& 1 [Option ID = 10441]

With respect to computers, which of the following are random access storage devices?

(A) Magnetic Tape



(B) Hard Dick
(C) Pen Drive

(D) CDROM

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only (2) (A). (C), and (D) only
(3)  (B).(C) and (D) only 4 (A). (B) and (D) only
(A)  HHfEE 29
® o=

(C) g

D) Hi g wW A

+r= fou U famel 9§ TE S W 99 i

1)  *a9 (A), (B) 31 (O) (2) == (A), (C) ¥ (D)

(3)  F (B). (C) 3% (D) @) F=9 (A). (B) ¥ (D)

[Question ID = 2612][Question Description = Q34_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10445]
2. 2 [Option ID = 10446]
3. 3 [Option ID = 10447]
4. 4 [Option ID = 10448]

Correct Answer :-
e 1 [Option ID = 10445]

30) Match List I with List IT
List I List IT
Computer Terms Description

(A) Magnetic Tape () Used in digital cameras photo printers
and cell phones

(B) Memory Card (IT) Uses laser beam technology to read or
write data

(C) Hard Disk (ITT) Used for data archival purposes but
must be accessed sequentially

(D) DVD (IV) A set of metal disks mounted on a
spindle

Choose the correct answer from the options given below :

1) (&), B)-(D), (C)-(V), D)-AD

L A Qe = e L &



fe) ARV ADEAL) AL ALY
(3)  (A-IID. (B)-AV). (O)-O. (D)-1I)
(4)  A-ID). B)-ID,. (C)-D. (D)-IV)

-1 % =19 g=i-11 =1 e i

-1 T=HI-11

(A) HHEE 20 @ Todftza o, w@ e 3 o9 %A °
T BT E |

(B) =M = D) == H TEd A femmd w few eew wm
AT =1 T AT 7 |

(C) =E fse= (II) S@ ATHETaS TEEE 2 9E9 Bl § 9
TH SETIE T ° FAEER TIHA A
=R |

(D) farm =19 AV) Torser W T e fSER 1 o=

4 22 U T ® ° w3 o = i

(1) (A)-(I1I). (B)-(1). (C)-(IV). (D)-(1D)

(2) (A)-(IV). (B)-(D). (C)-1I). (D)-(II)

(3) (A, B)-IV), (O)-(0). (D)-(ID)

(4) (A)-(ID). (B)-(I1I). (C)-(@). (D)-(IV)
[Question ID = 2613][Question Description = Q35_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10449]
2. 2 [Option ID = 10450]

3. 3 [Option ID = 10451]
4. 4 [Option ID = 10452]

Correct Answer :-
e 1 [Option ID = 10449]

What will be the resultant of two noise levels of 81 dB and 90 dB generated by two
independent sources?

(1) ~96dB (2) ~91dB
(3) ~ 98 dB (49 ~118dB

31 A wE ° graa 81 SHEe 1R 90 THiEE F et Tl F T F4 w5 Y

(1) ~ 96 dB 2y ~91dB
(3) ~ 98 dB (4 ~118dB

[Question ID = 2614][Question Description = Q36_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10453]
2. 2 [Option ID = 10454]
3. 3 [Option ID = 10455]
4. 4 [Option ID = 10456]

Correct Answer :-
e 1 [Option ID = 10453]

32) Match List I with Last IT
ListI List IT
(A) Kyoto Protocol (I»  Clean and Affordable Energy
(B) Montreal Protocol (II) Clean Development Mechanism
(C) Paris Agreement (III) Nationally Determined Contribution

(D) International Solar Alliance (IV) Phase out of chlorinated compounds



Choose the correct answer from the options given below :

(D (A)-(ID). (B)-(IV). (C)-(III), (D)-(D)
(2) (A4)-(1), (B)-(I1D). (C)-(IV). (D)-(IT)
(3) (A)-(ID). (B)-(IV). (C)-(I). (D)-(I1I)
(4) (A)-(IIT), (B)-(IV). (C)-T), (D)-(IT)

Ti-1 = =19 gei-11 =1 e =it

i1 =111
(A) T T O s AR w= F=
(B) HilZa= TR D === fTFm T
(C) uftm gt (IID) w¥rm =9 & fafv=yd TrEe

= 27 T foepet © | wE I A = A

(1) A1, B)-(IV). (C)-D). (D)-@)
2 A-D. B)IID. (C)-IV). (D)D)
(3)  (A)-D. (B)-IV), (O)-[). (D)-IID)
4  (A-ID. B)(IV). (O)-@). (D)-ID)

[Question ID = 2615][Question Description = Q37_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10457]
2. 2 [Option ID = 10458]
3. 3 [Option ID = 10459]
4. 4 [Option ID = 10460]

Correct Answer :-
e 1 [Option ID = 10457]

Given below are two statements:

Statement I: Sclar flat plat collectors essentially work on the principle of Green

House Effect.

Statement II : Black absorber plat radiates infrared radiations.

In the light of the above statements. choose the corrrect answer from the options given

below:

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement II is true

= =1 e foqu e E

Fe (1) :  HR G009 w2 GUTe THE136 U9 = [9gd ™ 5 % 60 7 |

Foq (II) : %o UHAER T2 H SRS a e

SUTIh YA % AT |, A 50 M0 fSedl § H WA ST =4 i



(1) = L3I LM a9 3 |

(2)  FeHE IR I 5M Tad & |

(3)  FA 1T 2, o wee 11 e 2 |

(4)  F I 3@ 7, o FeA a2
[Question ID = 2616][Question Description = Q38_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10461]
2. 2 [Option ID = 10462]
3. 3 [Option ID = 10463]
4. 4 [Option ID = 10464]
Correct Answer :-

e 1 [Option ID = 10461]

Identify the correct sequence in decreasing order of percentage of total world's water in the
following locations :

(A) Atmosphere

(B) Rivers and streams
(C) Ground water

(D) Lakes (Fresh water)

(E) Ice caps and Glaciers

Choose the correct answer from the options given below :
(1)  (E). (C), (B), (D). (A) (2) (E). (B), (0). (D), (&)
(3)  (E). (D). (C). (B). (&) 4)  (E). (C). (D), (A). (B)

Tava & F 5= Wiawa i feAifEd T # g o sEd wn § sEted fiiaw

{A) C q_Jn' =
(B) A SN S
©) g5

(D) == (ar= 9T
(B) femefid a1t femee

= T30 U foepem | O O 3 0 99 b
(1)  (E). (C). (B). (D). (&) (2) (E). (B), (C). D), A
(3)  (E). D). (C). (B). A @ (E). (C). (D). A). B)

[Question ID = 2617][Question Description = Q39_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10465]
2. 2 [Option ID = 10466]
3. 3 [Option ID = 10467]
4. 4 [Option ID = 10468]

Correct Answer :-
e 1 [Option ID = 10465]

By the year 2030, Susta.ipa;ble Development Goal 7 aims at enhancing the global rate of
improvement in energy efficiency by a factor of

(1) Two (2) Three
(3) Four (4) Five



=9 2030 %, HAEHAE FW FEA-T 1 3T FAEAA 1 AfaE 20 4 Fhad 7o Fi Gty = a?

&

n = (2)

(3 =" (4) =

[Question ID = 2618][Question Description = Q40_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10469]
2. 2 [Option ID = 10470]
3. 3 [Option ID = 10471]
4. 4 [Option ID = 10472]

Correct Answer :-
e 1 [Option ID = 10469]

According to NEP-20 the primary activities of the NRF will be to
(A) Fund competitive peer reviewed grant proposals of all types across all disciplines.
(B) Open new institutions of research and innovation.

(C) Act as a liason between researchers and relevant branches of government as well as

industry.

(D) Include research in curriculum at school level.

Choose the most appropriate answer from the options given below :
(1) (A) and (B) only (2) (A) and (C) only
(3) (B) and (C) only (4) (C) and (D) only
Tt o Hifd-20 % SHER U, s, i wuiEE Tttt 2 -
TEFEAT T T |
(B) TG 3T TETEIR F AU FEAAT i AT FAT |
(C)  wasai=i 3T Tag THHI THIT 3T7 FE1 = 3= %31 % =9 § H T |

(D) TFA T W TEAHE ° WG A T
e fau v fampeqi o 4 wem SugEd 39 H =294 HiT
(1) =34 (A) 377 (B) (2) == (A) =R ()

(3) == (B) 3 (C) (4) a9 (C) ¥F (D)

[Question ID = 2619][Question Description = Q41_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10473]
2. 2 [Option ID = 10474]
3. 3 [Option ID = 10475]
4. 4 [Option ID = 10476]

Correct Answer :-
e 1 [Option ID = 10473]



Identify from the following those values which are called “Sattvika Values”
(A) Compassion

(B) Jealousy

(C) Respect

(D) Falsehood

Choose the most appropriate answer from the options given below :
(8] (A) and (B) only (2) (B)and (C) only

(3) (C) and (D) only (4) (A) and (C) only

FrAfefan 7 5 = e i wmae Fiw o afew g, friam d e R

(A) Ezaull
® ==
(C) THH

(D) AT

e fam m fasped & @ Tew I0Ed S H 999 Fi

(1) e (A) =i (B) (2) Faa (B) 3 (C)
(3)  Fa= (C) 31 (D) @) Fad (A) 3R (C)

[Question ID = 2620][Question Description = Q42_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10477]
2. 2 [Option ID = 10478]
3. 3 [Option ID = 10479]
4. 4 [Option ID = 10480]

Correct Answer :-
e 1 [Option ID = 10477]

38 ; ; ;
) According to NEP-20 Secondary Education Comprizes of classes
(1) VIII-X (2) X-XII
(3) X-X (4 IX-XI

7% foren Hifa 1A At e § Frafafiad s e 8 -

(1) VIII-X (2) X-XII
(3) IX-X 4y IX-XI
[Question ID = 2621][Question Description = Q43_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10481]
2. 2 [Option ID = 10482]
3. 3 [Option ID = 10483]
4. 4 [Option ID = 10484]

Correct Answer :-
e 1 [Option ID = 10481]

Prakrit languages have similarities and differences with Sanskrit in many ways.
Prakrit languages when formalized for literary use their variation from conventional vedic

languages was



(1) Pali (2) Ardhamagadhi

(3 Apabhramsha (4) Hind
T AT T HEFG & A SEd H W W EEEan A1 e 7 | e 9 s afefors = % fon

T i T Tm 5E awaten AfEw w9 8@ saeh e off, 98 of -

() (2) =g
(3)  aEm (4) T

[Question ID = 2622][Question Description = Q44_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10485]
2. 2 [Option ID = 10486]
3. 3 [Option ID = 10487]
4. 4 [Option ID = 10488]

Correct Answer :-
e 1 [Option ID = 10485]

40) As a result of Wood's Despatch. which of the following Universities were established in 18577
(1) Calcutta, Bombay and Madras
(2) Bombay, Madras and Delh1
(3) Delhi. Bombay and Calcutta
(4) Madras, Calcutta and Delhi
Iz F T F TiemraEy, Fefates 8 3 F#9 § favafammem £ e 9 1857 1 53¢

(1) T, S5E AR 43

() =, HgE S fooe

(3)  fewett, w=rE ST Ferw

(4)  WAgE, Ferd AR faee

[Question ID = 2623][Question Description = Q45_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10489]
2. 2 [Option ID = 10490]
3. 3 [Option ID = 10491]
4. 4 [Option ID = 10492]

Correct Answer :-
e 1 [Option ID = 10489]

Topic:- 03rd_Set7_C

R Read the passage carefully and answer the question that follow
The need for continuing and reinforcing value oriented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely to become leaders of business and industry.
technocrats. leaders of thought, teachers and educationists, research workers. professionals,
political leaders and social workers etc. besides playing their normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study, may have a poor idea of the values of freedon and human
dignity, the value of food, security and health care for millions of poor and disadvantaged
people, the importance of correct public policies for managing socleties and solving several
problems, the importance of proper human relations and personal hife styles, ete. A good



numbper of them, however are now getting opportunities to acquire modern scienfific and
technical knowledge of high standards particularly in some of our institutions of excellence,
comparable to the best institutions in the developed countries. But the problem of
inadequate access to this kind of modern knowledge for the poor and disadvantaged groups
in our soclety constitutes a serious social and moral issue.

Curricular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners, because as pointed out in national policy document
1986. it can be a foreeful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values, oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism, violence superstition and fatalism.

In higher education. in the context of promoting strong value orientation. which of the
following statement holds true?

(1) Provide opportunities to students to acquire scientific knowledge of high standards.
(2) A Policy for development of values may be prepared.
(3) Offer courses related to inter disciplinary contemporary soclo-economic problems.

(4) The universities should aim to enrich technological dimensions.

TR 31 T9aR AFH F T W Tl 30 e 9o Sata—e Wews i S Eeadar A
ot Al HEvIyl HEST S WAl F | 6 T 9 S0 U J AT Tl S ud 3w & i,
wtatea=i, fa=ms, P i ey, siusal, 99En Te-ias 901 A7 AEiEE HEwal seais, T &
A HH GTHET F FEE A 5T S g B4l ofiv % G 9RER % 95T w1 5U, §F dd 7 | U
Tid 2 % 70 9 wfuw® 3 9 6 99 WEEE F I SEiaEeE T % 9R Easd A 6
TEENET % U 29 GE AR Al 1 HEe qu1 T 0 S 1 s Hie el 1 gEe
TN 1 93 T390 TEd 7 994 F | 390 O spEeTE G 29 O 9948 55U o GEded e Fun
T I EH § SeEe o SGAF JWEF A1 ORI T T F GEEE 9 E | S e
o § 99 v gfaw-ata @ge % 60 39 T w1 S T U e A AT uge A aEen

UIEEE U UF S 3w 1 o e, et v e -aean- e S At H=ar # T
EAT ==Y F=16 a6 T Hifd vem 1986 9 use 7 e T w1 g ® T 9w wmites s Afaw
Tl F HAYT F AU v e SUET B WA 7 | B WEEGE T O §gd OO 4 (e FOEEE A
Fi Ul ¥R THE & U e AEiinE vd e godt w1 999 A1 A0 | 36 T § ged oE

== fore 1 77 gea AtqgEiw % TenEd & v & gy A frefeiEa 5 3 FiH w5 27

(1)  3=a T 1 A0F FH-TIed 7 e 1 a8t e w0 |
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[Question ID = 2624][Question Description = Q46_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10493]
2. 2 [Option ID = 10494]
3. 3 [Option ID = 10495]
4. 4 [Option ID = 10496]

Correct Answer :-
e 1 [Option ID = 10493]

Read the passage carefully and answer the question that follow

The need for continuing and reinforcing value oriented curriculum at the post graduate level
and level of professional studies may be considered even more Important. Most of the
students trained at these levels are likely to become leaders of business and industry.
technocrats, leaders of thought, teachers and educatiomsts, research workers, professionals,



political leaders and social workers ete. besides playing their normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study. may have a poor idea of the values of freedon and human
dignity, the value of food, security and health care for millions of poor and disadvantaged
people, the importance of correct public policies for managing socleties and solving several
problems. the importance of proper human relations and personal life styles. ete. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence,
comparable to the best institutions in the developed countries. But the problem of
inadeguate access to this kind of modern knowledge for the poor and disadvantaged groups
in our soclety constitutes a serlous social and moral issue.

Curricular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners, because as pointed out in national policy document
1986, it can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values. oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism, violence superstition and fatalism.

The higher education system as of now emphasizes on

(1) Utilitarian values (2) Human values

(3) Social and Political values (4) Spiritual values

HAHI 1T U9 5T F T W A 30 e §ed Saia=es Teewn 1 AEeaEar # AN
+ft i Sl THE 1 AT B | 39 T 9 WA 9 AT AR e = vd sme % s,
Tdld 7 T 390 ° AGwa 3 9 6 991 % FEAE % SYUe HElaied Giean % H9Hd S A1 5
THENH F O 2 FE ARG A = Heed 991 S0 0 SR 1 S Hie el 1 Hae
SEATIS 1 =5 T[990 TEd 7l 9 7 | 390 4 SEEeE AEEd 5o H HaAE HEAEl % BHged e
FATTH I HEAH H Seal o SMYHE A9E AN Al T 9 e F GG 91 T | SR 2
Tars A dA1 v glagr-aiad @9e # 60 39 U H AEE TH 9T #4  AE Tad i aee

TETEE HYUR UE S 3tad {0 8§ gHEmm, eEe e man-aem-eEmmen £ atea e T
A1 AT T A T T i Teng 1986 § v A1 3R TR W g E T 9 amiaE o Afaw
Tl F HA9H F T OF e S0 A TEAT | B WieRGF §9 H 959 A § (9w FEE A
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FEEAE 3= e 9 R W SR S 2 7

(1)  FyETEEE - (2) =FE-g=
(3)  =WITE v TEAE g (4) TR g

[Question ID = 2625][Question Description = Q47_GP_24NOV_S1_SHAAN_Shift1]
1 [Option ID = 10497]
2 [Option ID = 10498]
3 [Option ID = 10499]
4 [Option ID = 10500]

A W N -

Correct Answer :-
e 1 [Option ID = 10497]

Read the passage carefully and answer the question that follow

The need for continuing and reinforcing value oriented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely to become leaders of business and industry.
technocrats, leaders of thought, teachers and educatiomsts, research workers, professionals,
political leaders and social workers ete. besides playing their normal roles as citizens and



family members hike all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study. may have a poor idea of the values of freedon and human
dignity. the value of food, security and health care for millions of poor and disadvantaged
people. the importance of correct public policies for managing socleties and solving several
problems, the importance of proper human relations and personal life styles. etc. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our Institutions of excellence,
comparable to the best institutions in the developed countries. But the problem of
inadeguate access to this kind of modern knowledge for the poor and disadvantaged groups
1n our soclety constitutes a serious social and moral 1ssue.

Curricular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners, because as pointed out in national policy document
1986, 1t can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values, oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism, violence superstition and fatalism.

Value oriented curriculum at professional studies level is important
(1) To propagate the values Further

(2) To have a glimpse of the 1ssues of the poor and disadvantaged
(3) To balance other pedagogy. related deficiencies

(4) To train students as efficient resource agents

HAAFRAT 3R U9 AEEE % T W ] SR e iR god Siaian Teewd $ AEvasd # 6
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[Question ID = 2626][Question Description = Q48_GP_24NOV_S1_SHAAN_Shift1]
1 [Option ID = 10501]
2 [Option ID = 10502]

3 [Option ID = 10503]
4 [Option ID = 10504]

A W N -

Correct Answer :-
e 1 [Option ID = 10501]

Read the passage carefully and answer the question that follow

The need for continuing and reinforeing value oriented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely to become leaders of business and industry.



technocrats. leaders of thought, teachers and educationists, research workers. professionals,
political leaders and social workers etc. besides playing their normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study, may have a poor idea of the values of freedon and human
dignity, the value of food, security and health care for millions of poor and disadvantaged
people, the importance of correct public policies for managing socleties and solving several
problems, the importance of proper human relations and personal hife styles, ete. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence,
comparable to the best institutions in the developed countries. But the problem of
inadequate access to this kind of modern knowledge for the poor and disadvantaged groups
in our soclety constitutes a serious social and moral issue.

Curricular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners, because as pointed out in national policy document
1986, it can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values, oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism, violence superstition and fatalism.

The most suitable Caption for the passage may be :

(1) Enforcing values in education

(2) Importance of values

(3) Value implementation

(4) Value basis for tertiary education and society
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[Question ID = 2627][Question Description = Q49_GP_24NOV_S1_SHAAN_Shift1]
1 [Option ID = 10505]
2 [Option ID = 10506]
3 [Option ID = 10507]
4 [Option ID = 10508]

AW N =

Correct Answer :-



e 1 [Option ID = 10505]

Read the passage carefully and answer the question that follow

The need for continuing and reinforcing value oriented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely to become leaders of business and industry.
technocrats, leaders of thought, teachers and educatiomsts, research workers, professionals,
political leaders and social workers etc. besides playing their normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study. may have a poor idea of the values of freedon and human
dignity. the value of food, security and health care for millions of poor and disadvantaged
people. the importance of correct public policies for managing socleties and solving several
problems, the importance of proper human relations and personal life styles. etc. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence,
comparable to the best institutions in the developed countries. But the problem of
inadequate access to this kind of modern knowledge for the poor and disadvantaged groups
in our soclety constitutes a serious social and moral issue.

Curricular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners, because as pointed out in national policy document
1986, 1t can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values, oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism, violence superstition and fatalism.

In order to cultivate values, the higher education system should concentrate on
(1) Plugging pedagogical deficiencies

(2) Integrating technology

(3) Integrating technology with pedagogy

(4) Curricular reforms
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[Question ID = 2628][Question Description = Q50_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10509]
2. 2 [Option ID = 10510]
3. 3 [Option ID = 10511]
4. 4 [Option ID = 10512]

Correct Answer :-
e 1 [Option ID = 10509]

Topic:- Education_SH1_A

1) A researcher conducted a study to have initial idea of scope and magnitude of the problem under study and to test the
feasibility of more extensive research. Such a study is called:

s olterapdl of 31ERRIoT 3 IR B faRdR vd ul¥amvT o simer AR @ Yrg a0l & 18 de SAIeT KU iefRienst &t FHsierar &l siia dor
@D fo1IQ U 31eRRIeT AdIferd fbl 33 YdR B 3ERIeT DI Bad 3 &
[Question ID = 2929][Question Description = S1_qSNz_PG_EDU_QO01]

1. Explanatory study/RIRIc#HD 3ieRIo

[Option ID = 11713]
2. Confirmatory study/3idud sreRIor

[Option ID = 11714]
3. Descriptive study/fdazumcad sierRror

[Option ID = 11715]
4. Exploratory study/scauvicd 3ieRRIel

[Option ID = 11716]
Correct Answer :-
e Explanatory study/RIRRIcA® 3ieRRIo

[Option ID = 11713]

2) An independent variable in an experimental study, which is manipulated by the investigator at his will, is technically
known as:

Ub YRIBI® 31ERI6l 3 TP Iddd IR, PR sicdud of 3dcfl sea1 A dcdra s 3, DI ddolicbl WU A Siell SIdT 3 ©

[Question ID = 2930][Question Description = S1_qSNz_PG_EDU_QO02]
1. Moderator variable/uf¥ssis a2

[Option ID = 11717]
2. Treatment variable/3uar a2

[Option ID = 11718]
3. Interfering variable/=iferoRt a2

[Option ID = 11719]
4. Confounding variable/sr@e @2

[Option ID = 11720]

Correct Answer :-

® Moderator variable/uf¥srsia a2
[Option ID = 11717]

3) If the distribution of scores obtained by a group of examinees on a test is skewed negatively, then which of the following
statements is false?

afe fp=il udigior 3 udleniRRil @ APs SRI grd 3iml DI faaRur Fute 34 A >pullcA® fSon I fawat 31, dl foaifeilRaa & A @il A1 Dol It
oridt 37

[Question ID = 2931][Question Description = S1_qSNz_PG_EDU_QO03]

1. Most of the examinees crossed the passing cut-score of the test./siferior ustenfefil of usten @ Icftvfar-3az-3id o uR @2 frn

[Option ID = 11721]
2. The average difficulty level of the test-items was low. /ustgor- 31t @1 3hRIA-BfSerrs- 32 e e

[Option ID = 11722]
3. The mean score of the examinees was more than the median score. /uStenfeRii @ Fnfeermr-yraic A SAGT ATeA-Yreicd ot

[Option ID = 11723]
4. The modal value was less than the mean, but more than median. /agcic =1 ame=r 3 @t o1 , Afdpol Jfeerept A 3ifid or

[Option ID = 11724]
Correct Answer :-
® Most of the examinees crossed the passing cut-score of the test. /sifeimior uslgnfeRil of usign @ 3cfivfar-zaz-sic @ uR @2 orRn

[Option ID = 11721]



4) The ‘case study' method is mostly involved in which of the following qualitative research designs?
‘Ifp s1eRIel fafdr forotferfRaa 3 A siffrpar A suIcAD srofenel-yreu 3 onfder 3 ?

[Question ID = 2932][Question Description = S1_qSNz_PG_EDU_QO04]
1. Phenomenological Design/acoiaitr grsu
[Option ID = 11725]
2. Ethnographical Design/gpsiferge grsa
[Option ID = 11726]
3. Grounded Theory Design/gfornct RBrgia greu
[Option ID = 11727]
4. Narrative Design/aufeiicoras greu

[Option ID = 11728]

Correct Answer :-
® Phenomenological Design/«acoiagir gresa

[Option ID = 11725]
5) Which of the following statements defines the basic philosophy, theory, and practice of teaching children according to
critical pedagogy?

forratferRaa 3 A1 Plel AT Dol Rdcecam-d1gon« d 3GRIR dcdl Pl Uglel d el gofol, Rigia 3k yfegrn oI ufdsnfta owar 3 ?

[Question ID = 2933][Question Description = S1_qSNz_PG_EDU_QO05]
1. Emphasis on concepts like compassion, kind-heartedness and healthy dialogue to ensure children's wellbeing and social development. /acdi &t srems
3l ARSI R Jfoifid w0l d foe wuM, o 3R Faze-3Adrs Skt srerunsil w2 sz doir

[Option ID = 11729]
2. Questioning dominant beliefs or world views about knowledge and learning, and discover deeper meaning and root causes of the phenomena. /=iret
3R siffPel & AR 3 Yadl-AreIamnil =1 ffra & are-far! w gt e, ik uf¥acen @ a1 stef 3iiR IfcT BrRull 6t HlsT Bl

[Option ID = 11730]
3. Accepting multicultural needs to create equally comfortable learning environment for all childern irrespective of cultural and social origin/iz®fcra
3l ARSI 3cufer a1 et b fer 218t 21ft arcall 3 TEARGID raoAdDAI DI W6l FU A RPIGRID IIfPMEI-AIAIIRYI Foflol Pl AADBAI Pl FHDR Bl

[Option ID = 11731]
4. Challenges traditional beliefs about knowledge, look for alternatives, and create knowledge through thoughts, experience and dialogue. /siet @ aR 3
URUR® ARl Bl goild a1 8, faeul &I denor wr 3, i framrl, srejera 3iiz Jdarg & AT 3 STl DI Yolol DI 3

[Option ID = 11732]

Correct Answer :-

e Emphasis on concepts like compassion, kind-heartedness and healthy dialogue to ensure children's wellbeing and social development. /s<al & sremrs
3R AP PRI YU D0l D 1w D>uI, Gl 3R FAFA-AAIG SRl /el W Sk Joit

[Option ID = 11729]

6) An engineering company wants to recruit fresh graduates for its specific nature of work. The company decides to
conduct a selection test. What kind of test would be most appropriate for this purpose?

uep 3fIrIifchbl dusil 3ol fafdrse gbR @ @RI & 1Y 1w Foiraml b sdl w2l arsdl 8 Duoil arRIel U3leh JRNRIA dal @I ool ciedl 3 a1
329 @ fore b2t ave @1 uievr A U M ?

[Question ID = 2934][Question Description = S1_qSNz_PG_EDU_Q06]
1. Mental Ability Test/aroi1e grerar udtgror

[Option ID = 11733]
2. Achievement Test/3ucifeer usteivr

[Option ID = 11734]
3. Aptitude Test/sifdrgmrar ustgmor

[Option ID = 11735]
4. Personality Assessment/cafebea acRiicsor

[Option ID = 11736]
Correct Answer :-
® Mental Ability Test/usmeiRied grerar ulgor

[Option ID = 11733]

7) The Portfolio Assessment technique, as a part of pedagogical practices, is used for the purpose of evaluating students
and involves recording:

OIEHIeRIT- 31D clol ddoild, IgIUID YTl @ Uhb BT D WU 3, BIG] D JcAibol D fe1e YRIeI &f sIredl 3t
[Question ID = 2935][Question Description = S1_qSNz_PG_EDU_QO07]



1. Learning outcomes after completion of a course. /urcRIas Y21 8ol B a6 3ifeemE yferper

[Option ID = 11737]
2. Readiness for an impending competitive examination. /v siRicol yferisft udlen & fere dwrst siiz acuzar

[Option ID = 11738]
3. Laboratory work after the end of a semester./vd 3 & 3id & 16 YbINCT DR

[Option ID = 11739]
4. Progress in learning and performance over a period of time. /v J@rI 3mafé 3 sifteE iR ygolor 3 ysifer

[Option ID = 11740]

Correct Answer :-

® Learning outcomes after completion of a course. /Ui g1 dlol @ dI 3ifeIA Yferwet
[Option ID = 11737]

8) Flander's Interaction analysis technique used for analysis of teaching-learning situation in the classroom, as a feedback
mechanism, mainly takes into account:

weise o sia:fegn frecsuvr ddofies 1 IuRNeT wgn 3 fargvr-sifeenr &t Reafer & frasuur & fere s sar 3, ves yfegfte dqg & »u &, g
%U A &ATol A T 3:

[Question ID = 2936][Question Description = S1_qSNz_PG_EDU_Q08]
1. Non-verbal behavior of teacher and the students/fd1g1® iz BIG @T s1-#ifam RAsR

[Option ID = 11741]
2. Only verbal behaviour of teacher in the classroom /e 3 fSrgias @1 ddct HiRad ®rasR

[Option ID = 11742]
3. Verbal behaviour of the teacher and students/ e iz s1i @1 ARdd =asR

[Option ID = 11743]
4. Both verbal and non-verbal behaviour of teacher and students/fdigr® 3iiz ®IGi @ HIRa® 3ii 313-#IRad Slell RABR

[Option ID = 11744]
Correct Answer :-
e Non-verbal behavior of teacher and the students/fd1gim 3iiz BIGl @1 Sl>-ARad IasR

[Option ID = 11741]

9) The system of objective analysis of written or spoken verbal communications is known as:
feiRaa = 3 dAiRam JAar & aeqforss faeayur oI yurrell @I forvarfciRaa @ »u 3 Sl Sirar 3:

[Question ID = 2937][Question Description = S1_qSNz_PG_EDU_QO09]
1. Interaction Analysis/sia:fegem faec3wur

[Option ID = 11745]
2. Profile Analysis/uf¥cafemr faeadwur

[Option ID = 11746]
3. Content Analysis/ferrr frecstor

[Option ID = 11747]
4. Factor analysis/ @R fascsuor

[Option ID = 11748]

Correct Answer :-
® [nteraction Analysis/aid:fagem frecswur

[Option ID = 11745]

10) Which of the following terms best indicates the intent of a qualitative research?
A. Understanding

B. Explanation

C. Description

D. Exploration

E. Interpretation

forgotfcii¥aa 3 A1 Ddlel AT UG UICHD 3GIALI6l D IZ9A DI AdIdH WU A ADITd DIl 3 ?
A. sadite

B. suséimur

C. fRazur

D. sredauur



E. carsn

[Question ID = 2938][Question Description = S1_qSNz_PG_EDU_Q10]
1. A,Cand D/A, C3iz D

[Option ID = 11749]
2. A, DandE/A, Daliz E

[Option ID = 11750]
3. B,CandD/B, Cair D

[Option ID = 11751]
4. B,DandE/B, D3 E

[Option ID = 11752]
Correct Answer :-
e A, CandD/A, CsieD
[Option ID = 11749]

11) Which from the following are parts of the purpose of quantitative research?
A. Understanding of cultural traditions

B. Discovery of relationships among variables

C. Interpretation of human relationships

D. Confirmation of hypotheses

E. Generalization of results to other situations

forgotferfiac 3 A Dol UNHAVTICHD- SIofHEMNeT B I T 9T 3 7

A. Airoftre uRuRIsl Bl FIST6

B. a3t @ dfter 2idedf &t et

C. Jirora Adell Bt camren

D. uf¥aeuonsit 6t yfte

E. so ufefFeferil @ uvmedl o1 Ameeftour

[Question ID = 2939][Question Description = S1_qSNz_PG_EDU_Q11]
1. A,CandD/A,C 3k D

[Option ID = 11753]
2. ABandE/A, B aie E

[Option ID = 11754]
3. B,CandD/B, C aiz D

[Option ID = 11755]
4. B,DandE/B,D a2 E

[Option ID = 11756]

Correct Answer :-
e A,CandD/A,C sie D

[Option ID = 11753]

12) Which of the following statistical techniques may be successfully used to analyse research data available on ordinal
scale only?

A. Quartile Deviation

B. Student's t-test

C. Percentile Ranks

D. Chi-square test

E. Spearman’s correlation method

Choose the correct answer from the options given below.

forgoiferRaa 3 37 Dl 2l ARRIDRI ddolidl DI IUIPT DAl BIJAD ATUGH UR IUcToe] GRIEe Sl Pl [Pl del & f&e Awaayde fasr
SIT AT 3 ?

A. Tqgeio femreet
B. a1 @1 &-c3¢
C. orqa gjuft



D. ®-FaarR udigr
E. diRrdier &b Asaaer fafer
il fou s1e feseul 3 A & = gfore

[Question ID = 2940][Question Description = S1_qSNz_PG_EDU_Q12]
1. B.DandE/B,D3lr E

[Option ID = 11757]
2. A,CandE/A,C3ik E

[Option ID = 11758]
3. A,BandD/A, Bsiz D

[Option ID = 11759]
4. B,CandE/B, C 3k E

[Option ID = 11760]
Correct Answer :-
e B.DandE/B, D3z E
[Option ID = 11757]

13) Which of the following statements are true for portfolio assessment technique used for performance evaluation of
students?

A. Assess students' growth and achievement over a period of time
B. Scoring process is simple, reliable and valid

C. Motivation and involment of students in learning is enhanced

D. Enable students to evaluate their own performance and products
E. The process of operation is less-demanding and time-saving

Choose the correct answer from the options given below.

BIG] D Ygolar-Feaider @ fore yriter bl Siror arcll dICwIferI sirbetel Aol @ fere fowoifeiRaa 3 3 wlor 1 weret Ad 3 ?
A. v AHA-3@f D 916 DIl DI gl 3R Iuctieer oI aelol DI

B. gmie yfdgan e, frasioi iz da 3

C. saftprar 3 a1gi & Yeun ik seficst o agrRI sirar 3

D. a1qg] @I 3ruol ¥Rl @ Ygolal 3iR IcUISI DI Aol Dol I ALTH Tolloll

E. garctor &1 yfepRn o3jol srragredr arefl 3R A I sad ol arctl 3

offd fu s fymeul 3 3 A8 3R o

[Question ID = 2941][Question Description = S1_qSNz_PG_EDU_Q13]
1. A,CandD/A, C 3z D

[Option ID = 11761]
2. A, B,andE/A,B &z E

[Option ID = 11762]
3. B,DandE/B, D siz E

[Option ID = 11763]
4. B,CandD/B, C sz D

[Option ID = 11764]

Correct Answer :-
e A,CandD/A,C 3z D

[Option ID = 11761]

14) Which of the following are the characteristics of criteron-referenced-interpretation of test scores?

A. Achievement of specific skills or concepts by each individual learner is assessed.

B. Instructional objectives are based on identified skills, rather than on broader learning.

C. Test-items discriminate between examinees in terms of their relative postions in the group tested.

D. Scores are expressed in terms of percentile ranks or stanines to ensure inter-examinee comparison.

E. An examinee can compare his own performance in terms of development of skills over testing occasions.

Choose the correct answer from the options given below.

fotf3otoifeiRaa 3 A oot udlevr-yric & foramu-Hciia-cmen & fadaans 3 ?



A. Y@ cafepera Rigmeff @5 grer fafdrse-wlorer =i sraenzumsii bt 3ucfser @1 siavetor fos=m Sirar 3

B. 3IGISONCHD 39 SATUD AfPIH @ TSIRT USdIo!l 31T BI9IET UR 3renfd a1d 3

C. udigvr-axq udlgniRRil @ dra udlgror Row a1e s 3 Sord ATUST Ferrel @ e 3 NoHId B 3

D. greics siaz-ustenelf qeion Ffoifia wear & Rre eraue Jufl a1 2efdrer & wu 3 sifiream &

E. v udlgnedl udigrur @ raRRI U= ®lorel @ fIDRI & ARICT 3 3Uol Ia D Yg9lel Bl delell B2 ADAI &
il fou s1e eyl 3 A 8l IR DI Tt B3 ¢

[Question ID = 2942][Question Description = S1_qSNz_PG_EDU_Q14]
1. B,Dand E/B, D3 E

[Option ID = 11767]
2. B,CandD/B, C3ik D

[Option ID = 11768]
3. A, BandE/A, Baie E

[Option ID = 11766]
4. A, Cand E/A, Calr E

[Option ID = 11765]
Correct Answer :-
e A, CandE/A, CsiR E

[Option ID = 11765]

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : The value of reliability coefficient of a test varies from 0 to +1, but can not be negative.
Reason R: The correlation of a set of scores with itself or a set of parallel scores can not be negative.

In light of the above statements, choose the correct answer from the options given below.

ofid 3w s1u St weret 3, ue @ sifirderct A & U 3 3R g3 B BRUI R & wu 3 ampmafa e srr 3
sifSrperet A:  fopeil udlgiur &l RiearteiiRadr spviics @1 dir61 0 A +1 ad ool 3iar 3, cifdbol SIPRICHD oidl 8l Aber
@RI R: UIHic® & A DI TR D AT AT AHIGIoR YIHID TS D AT HGIHEEl oIDRICHD oldl 3 ADAL
SWRIRD DUll D Y19l 3, ofid fu s1e fqaeul 3 3 A8l 3R gfore

[Question ID = 2943][Question Description = S1_qSNz_PG_EDU_Q15]

1. Both A and R are true and R is the correct explanation of A/A 3iiz R cloil 2 8 3l R, A &t & wareen 3
[Option ID = 11769]

2. Both A and R are true but R is NOT the correct explanation of A/A siiz R clail 3t & cifdpat R , A &t 318t amreen o1dt @
[Option ID = 11770]

3. Ais true but R is false/A 3@t 8 cifepor R 2t o1al 8

[Option ID = 11771]
4. Ais false but R is true/A &l orét 2 Afcper R 1t 2

[Option ID = 11772]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/A 3iiz R Glail 318l & 3z R, A &l 31d wimecen 8
[Option ID = 11769]

Topic:- Education_SH1_B

1 ) Read the passage below and answer the question

One of the major weaknesses of the existing educational system is that it places an almost exhaustive reliance on full-time instruction and does not
develop adequately the two alternative channels of part-time and private study or own-time education. It has to be remembered that reliance on full-time
education as the sole channel of instruction often divides the life of an individual into three water-tight and sharply divided stages: a pre-school stage of
non-formal education or work, a school stage of full-time education, and a post-school stage of full-time work and no education. In a modernizing and
rapidly changing society, education should be regarded, not as a terminal, but as a life-long process. It should begin informally in the home itself, and
thereafter it should be the ultimate objective of the national policy to strive to bring every individual under the influence of the formal system of
education as early as possible, and to keep him under it, directly or indirectly, throughout his life. Similarly, there should be no water-tight separation
between work and education at any stage of man’s life, but only a relative shift of emphasis. An individual under full-time education should have some
work-experience as an integral part of his education itself; and every full-time worker should have the inclination, leisure and means to continue his

education still further. In the same way, the transition from one stage to another should not be abrupt.



ofid feu a1e sterior @t ug 3k gest @I 3 3@

frermer 18 gureht 6 ygrza warsiiRil i A vo a6 3 6 srd gufwiferas sropeeret ur oo ATyl sracia a1 SR 3 3iiR siormIfere i okl seerIor a1 Farearr @ 3 dofeus
el @1 wrRIfe ¥ A R o18l oo srRn 3 1 ATe 3o 3191 b eI 9Tl @ TabdIe ATeAd B WU 3 gufmiferas g ur forfan sraz st caftp @ Sfiaer o sgen oot sere=r 3iie
Jruce U A fanilSia avil 3 fsrep @2 Tar 3: @1 a1 Sixsivanf¥e R1gn o1 va gd-fenerikn amvl, guimifera Rign o1 fencritn avvl, sie yufaoifere orf sie g o8l 3o
fremeritr azor  smeifore siiz At 31 acera wraTSt 3, 18N @} w smafdie gfpen @ vy 3 o1dl, afew Sitaet a1z arer archt gfégar @& wu 3 AiTe Sien 3T s TR 3 & seiiuanye wu A
9I% BNofl a2, 3iiz sAD arc I offer w1 siferer 329a YRA® e @ Sfidol 312 Yeast A1 AYyIst 20U A Prgn &bt siiuanf¥as yunelt & yeira 3 ol & fore g @ wu i dlen aifde st
A6, 3T D Sttael @ fepft 9ft @rvr 3 Daca a1 @1 v ATA 81 uf¥ader @ afeify e siiz 151 D da DI sersg Risrstor o181 dlon anfde  Yofoifere o1 @ deda v afep @I aroft
forgn @ wa 3ifdrcol 3ivT @ WU I BB DRI-3GIHd Bloll Tf2T;3HR YA Yuimtera dEeR @l srusil fArgim sisft off 3mal Sl %6l @ fére 3[wra, sram1er 3ii A1erst dlont aifde =M s A
BT TRUT A G ARVI 3 AT 3yenfdra 18l Slorr anfdw

The major emphasis of the contents of the passage is on:
arenior bl frerRr-avq @1 ygpa de el ur 3:

[Question ID = 2944][Question Description = S1_qSNz_PG_EDU_Q16]
1. Pre-school and childhood education/qd fiencrflor iz arcemazen i forgm

[Option ID = 11773]

2. Vocational and skill-based education/cmanRie siiz wieret menfya forgm
[Option ID = 11774]

3. Life-long and continuing education/Sfiaorafa siiz foraz fOrem

[Option ID = 11775]
4. Workers’ skill up-gradation training/ 9[férp! @I ®lolct 3ooRIel YISISIuT

[Option ID = 11776]

Correct Answer :-
® Pre-school and childhood education/ud faencrfter siiz arcamazenr & forem
[Option ID = 11773]

2) Read the passage below and answer the question

One of the major weaknesses of the existing educational system is that it places an almost exhaustive reliance on full-time instruction and does not
develop adequately the two alternative channels of part-time and private study or own-time education. It has to be remembered that reliance on full-time
education as the sole channel of instruction often divides the life of an individual into three water-tight and sharply divided stages: a pre-school stage of
non-formal education or work, a school stage of full-time education, and a post-school stage of full-time work and no education. In a modernizing and
rapidly changing society, education should be regarded, not as a terminal, but as a life-long process. It should begin informally in the home itself, and
thereafter it should be the ultimate objective of the national policy to strive to bring every individual under the influence of the formal system of
education as early as possible, and to keep him under it, directly or indirectly, throughout his life. Similarly, there should be no water-tight separation
between work and education at any stage of man’s life, but only a relative shift of emphasis. An individual under full-time education should have some
work-experience as an integral part of his education itself; and every full-time worker should have the inclination, leisure and means to continue his

education still further. In the same way, the transition from one stage to another should not be abrupt.

ofia feu 31w sterior ot ug iz gest @I Jaz 3@

fereramer  fo1g1 qureht Bt yggza warshfRil 3 A vos Az 3 b 3319 guimiiera sig1Soret ur cemier AUl sracid 31 SRN 3 317 siorIferd iz forsfl sreRRIol 11 ¥R @ <l dofeum
ATEHAl DT TR WU A IR oifl o srI 3 18 A16 336l B1oN fob 31of 9Tel B UhHIe HIEAH B WU A gulmiferd 1 ur fnkar srazr ol safte @ sfider @) agen ot se=r iz
Jruce U A fafSa arvil 3 frsres @2 Sar 3: @ a1 Sixsiuanf¥e 15 @1 v gd-fiencrikn arv, gufmiferas Rign o1 fencritn arvl, sie yofaoifere orf sie g o8l 3o
frereriizr aror  3megforen siiz dshl A acerd Framst 3, 181 @1 ves smafires gfiigen @ wu 3 o1dl, afew sfiaet s acror arclt gftpgen @ u 3 wiren sion anfde w16 @2 3 & seiluanf¥e wu A
913 Blofl aIfdu,3iiz s are AR ofifer 1 siferer 329 yRA® cafen @Y slidot 812 gt A1 3ycast U A dren &t situenfya yonedt @ yaira 3 ool & fére gt @ wu 3 den aide st
3,3 D Sfiael @ =l sft azv1 3 Bac ga &1 v A el ufrada @ sifeifs @1 i 18N & da DI sIcrsg fnirsiol ol dlol anfdw  yufmifere f3rgn @ ded v ftb I st
fOren & v aiftioo 301 B WU A TS BRI-3relsa Sloll ade;siiz YA Yuloiferes 1oz @ srusil 181 srsft oft 3R SIst 2aal & fore greTa, srawm1or iz ATerst dlonr aifde 321 aws A
B TRUT A G ARVI A AT yfIra 18l Blorr anfdw

Which alternatives to full-time education are suggested in this passage?

33 aren9r 3 yufoifere fArgn @ oot A Rraseu Jame a1e 3?7

[Question ID = 2945][Question Description = S1_qSNz_PG_EDU_Q17]
1. Both school-based and private study

[Option ID = 11777]
2. Regular evening and night classes

[Option ID = 11778]
3. Evening classes and personal self-study

[Option ID = 11779]
4. Half-day school and half-day work

[Option ID = 11780]



Correct Answer :-
® Both school-based and private study

[Option ID = 11777]

3) Read the passage below and answer the question

One of the major weaknesses of the existing educational system is that it places an almost exhaustive reliance on full-time instruction and does not
develop adequately the two alternative channels of part-time and private study or own-time education. It has to be remembered that reliance on full-time
education as the sole channel of instruction often divides the life of an individual into three water-tight and sharply divided stages: a pre-school stage of
non-formal education or work, a school stage of full-time education, and a post-school stage of full-time work and no education. In a modernizing and
rapidly changing society, education should be regarded, not as a terminal, but as a life-long process. It should begin informally in the home itself, and
thereafter it should be the ultimate objective of the national policy to strive to bring every individual under the influence of the formal system of
education as early as possible, and to keep him under it, directly or indirectly, throughout his life. Similarly, there should be no water-tight separation
between work and education at any stage of man’s life, but only a relative shift of emphasis. An individual under full-time education should have some
work-experience as an integral part of his education itself; and every full-time worker should have the inclination, leisure and means to continue his

education still further. In the same way, the transition from one stage to another should not be abrupt.

ofid feu a1g sterior ot ug 3R gest @I Jaz 3@

fereramer  fo1gm quireht Bt yggza warshiRil 3 A vo Az 3 b 3339 guimIiere sig1Soret ur cemier AUl sracid 31 SRI B 317 SiorIferd il forsfl sreRRIor a1 AR @ <l dofeudm
AIEAIHAT DT TRITH WU A IR o1l o1 sRI 3 18 ATG 3ol B19N fob 3161 9Tel B TMHIe HIEAH B WU A gulmiferd g ur nlar srazr ol safte @ sfider @) agen <ot seer iz
Jruce U A fafSa arvil 3 fasrs @2 Sar 3: o A Sixsiuanf¥e 15 @1 v gd-fencrin arv, guimifera Rign o1 fencritn arvl, sie yofeifere orf sie g o8l 3o
fereneriizr aror  smegforen siiz il A acerd FrarSr 3, 181 @) v smafiras gfiigen @ wu 3 o1dl, afew Sfiaet s actor arclt gftprn @ u 3 wiren Sifon anfde @16 @2 3 & seiluanfye wu A
913 alofl T, 3iiz s3I drG A ofifer o1 siferdr 39a Y cafen oY Sfidor 912 Yeaigl a1 3rgcaer u 2 R &Y situanfyes guirell & geura 3f crror & fere gemrer & »u 9 den aifde  s=ft
6,3 D Sttael @ fep2ft 9ft arvr 3 Daa ga @1 v ATA 81 uf¥ade @ sfeify™ o sz 151 D da DI s Risrsior o181 dlon anfde  Yofwifere fd1gn @ dsa v wifep @I sruoft
fRren & ue siftiool 301 B WU A T BRI-3relsa Sloll afde;siik YAd Yulabiferes w1asmR @ srusil g srsfl sfi 3R SIrst 2ael & fore greTa, srad1or iz Arerst dloll aifde 321 aws A
B TROT A G ARVI A AT YnfIra 18l Sloir anfdw

What is meant by the concept of ‘own-time’ education in the context of the given passage?
feu a10 srenior o cHf 3 FareArRT 6 sraenzon A = AfdYrRr 3 ?

[Question ID = 2946][Question Description = S1_qSNz_PG_EDU_Q18]
1. Going to school as per own convenience

[Option ID = 11781]

2. Studying in a private coaching school
[Option ID = 11782]

3. Going to attending night classes

[Option ID = 11783]
4. Studying at home at leisure-time

[Option ID = 11784]

Correct Answer :-
e Going to school as per own convenience

[Option ID = 11781]

4) Read the passage below and answer the question

One of the major weaknesses of the existing educational system is that it places an almost exhaustive reliance on full-time instruction and does not
develop adequately the two alternative channels of part-time and private study or own-time education. It has to be remembered that reliance on full-time
education as the sole channel of instruction often divides the life of an individual into three water-tight and sharply divided stages: a pre-school stage of
non-formal education or work, a school stage of full-time education, and a post-school stage of full-time work and no education. In a modernizing and
rapidly changing society, education should be regarded, not as a terminal, but as a life-long process. It should begin informally in the home itself, and
thereafter it should be the ultimate objective of the national policy to strive to bring every individual under the influence of the formal system of
education as early as possible, and to keep him under it, directly or indirectly, throughout his life. Similarly, there should be no water-tight separation
between work and education at any stage of man’s life, but only a relative shift of emphasis. An individual under full-time education should have some
work-experience as an integral part of his education itself; and every full-time worker should have the inclination, leisure and means to continue his

education still further. In the same way, the transition from one stage to another should not be abrupt.

ofla fou a1g sterior o ug 3fiz gest @I 34z 3@

freremer  fo1g1 yureht Bt yggza warsifil 3 3 vo as 3 o5 s guimifere sig1oret uR cenier AUl sracid @1 SRI 3 iR SiormIferd iie forsht sreRRIor 2 FareIRI @ < dopfeud
ATEAT DT TATH WU A RIpRT oiél o srI 3 16 A16 3361 B1oM [ 31ef 916l @ UmdIe ATEIH D WU I gulmifere Pign ur fonkar sraer el cafte @ sfaer @) agen ot see=r iz
Jruse ¥u A fnlSa wrvil 3 Ried @2 e 3: o1 1 St situenfye A1 @1 v gd-feeneritn @zvi, guioiferas f1gm @1 fremerikn @rvl, siie guimiere ®rt siie 181 518l a2
feremerii TR nEgforad SilR dsil 2 acerd AarS 3, 19181 @l vop smafdre gfdpgan @ u i o1dl, afew Sfiaet 1= <ol arcil yfpzn @ U 3 Aol el anfde A6 &R 3 1 seiluniya wu A
913 Bloft a3, 3R $AD a1c AR offeT 1 3iferer 329U YRA® cafen dY Sfidot 812 Yeet A1 3yaet U A Pdren &t siruenfas yonedt @ yaira 3 ol & fore gt @ wu 3 den aide st
a8, Ao @ Sfidor @ o2l 9ft azvr I Daa gar @1 v AT g1 ufvader @ sty ©1@ siiz 15T & dfa o1 siavg fssor o1él glon aifde  gufmifera 15 @& asa va safp @ srueft
forgn @ wep aifiroo siv1 @ wu 3 BB DRI-agIHa Bloll afdg;siiz Y guicifere wrpmR o1 sl 181 aisft oft 1R SISt 2360l @ fére srepTa, srawter sile AnerdT dlon anfde 3t aws 3



B0 TRUT A G ARVI A AT yenfdra 18l dlorr anfdw

Who should be the first teacher(s) for a child, as indicated in the passage?
Udb g D fore usa I8 ot dlat Tifdy, Siar b srerior & gorfer srm 3 ?

[Question ID = 2947][Question Description = S1_qSNz_PG_EDU_Q19]
1. Peers in the neighbourhood/uski @ Jeurct
[Option ID = 11785]
2. Mother and father at home /=2 3 @f 3z foar
[Option ID = 11786]
3. Care-takers in child-care center/acd & Sasirel-dg 3 ST8IIeT Dol It

[Option ID = 11787]
4. Teachers in a nursery school/vw® arRit ¥aet 3t forgim

[Option ID = 11788]

Correct Answer :-
e Peers in the neighbourhood/usrkI @ Jeust
[Option ID = 11785]

5) Read the passage below and answer the question

One of the major weaknesses of the existing educational system is that it places an almost exhaustive reliance on full-time instruction and does not
develop adequately the two alternative channels of part-time and private study or own-time education. It has to be remembered that reliance on full-time
education as the sole channel of instruction often divides the life of an individual into three water-tight and sharply divided stages: a pre-school stage of
non-formal education or work, a school stage of full-time education, and a post-school stage of full-time work and no education. In a modernizing and
rapidly changing society, education should be regarded, not as a terminal, but as a life-long process. It should begin informally in the home itself, and
thereafter it should be the ultimate objective of the national policy to strive to bring every individual under the influence of the formal system of
education as early as possible, and to keep him under it, directly or indirectly, throughout his life. Similarly, there should be no water-tight separation
between work and education at any stage of man’s life, but only a relative shift of emphasis. An individual under full-time education should have some
work-experience as an integral part of his education itself; and every full-time worker should have the inclination, leisure and means to continue his

education still further. In the same way, the transition from one stage to another should not be abrupt.

ofia fou 319 sterior 1 ug iz gest @I 34z 3

freremer A8 yureht Bt yggza warsifRil 3 3 vo as 3 o5 39 guimifere sig1oret uR cemier AUl sracid @1 SR 3 3iie siormIferd iz forstl sreRRIor =11 FareIRI @ <l dopfeud
ATEAT DT T WU A RIpRT oidl o srI 3 16 A16 3361 B1oN fo5 31e1 916l @ UG HIEIH D WU A Yulmifere g ur fonkar sraer el cafte @ Sfiaer @ agen ot sree=r iz
Jruse ¥U A fnfSra wruil 3 e @2 Sar 3: o1 A iz siiuenfye fd1gm @1 v gd-faeneritn @rvi, guioiferas frgm @1 feremerikn @rvr, siik guimiferm Rt siie 18 518l 3tz
frereriizr arvr  3megforen sz dshl A acerd Fraer 3, 181 @1 ves smafires gfiigen @ wu 3 o1dl, afew sfidaet s acror arclt gftpen @ u 3 wiren Sion aifde @16 &2 3 3 seiluani¥e wu A
91 Blofl a3, 3R s are AR ofifer 1 3Siferer 329U YRA® cafes @Y Sfidot 812 et A1 3ycast U A g &t situenfas yunedt @ yaira 3 ol & e gt @ wu 3 den aide s
a8, Ao @ Sfidor @ 2l 9t azvr I Daar ga1 @1 v AT ST ufvader @ siftify ©1 siiz 151 & dfa o1 Siasg fsisior o138l glon aifde  guimifera 151 @& asa va cafikp @I srueit
Rren @ uw 3iftioot 301 B WU A T BRI-31elsa Sloll aIfde;3iiz YA Yuldmifers wresmnz @ srusil s srsft oft 316 SIst 33aal @ fore grepTa, srawm1er iz Arerst dlonr Al 321 aws A
B TR0T A G ARVT A AT YynfIrad 18l dloir anfdw

What is the opinion of the author about education and work?
1811 31 ORI D @R A e & a3 ?

[Question ID = 2948][Question Description = S1_qSNz_PG_EDU_Q20]
1. No work at the time of education/fdren @ @RI DI BT odt

[Option ID = 11789]
2. No education while working on a job /i3t w2 @t e B fdrer oiet

[Option ID = 11790]
3. Education and work to be integrated/fsrsm 3iiz @1 @I wdbldd b St aifge

[Option ID = 11791]
4. Education and work should not go together/fsreir 3fiz @1 2mer-3mer ol dlot anfde

[Option ID = 11792]

Correct Answer :-
o No work at the time of education/fdrgn @ 3RI IS DI oISt

[Option ID = 11789]

Topic:- Education_SH1_C

1 ) How does organisational climate affect the employees in an organisation?

P21t o100 3 ISTGIICIHD ATBICT DIHAIRIL DI DA PrIfdd Dl & ?



[Question ID = 2949][Question Description = S1_qSNz_PG_EDU_Q21]
1. Respect for employer and salary/forirenr iz Ador @I AFdTor

[Option ID = 11793]
2. Team spirit and quality of products/la stidon iz 3curcl &t spuradr

[Option ID = 11794]
3. Productivity level and motivation level/3curgdmar 32 aiiz §umm a2

[Option ID = 11795]
4. Employees’ dedication and salary/adfarf¥eit @1 serdor sz Ao

[Option ID = 11796]

Correct Answer :-

® Respect for employer and salary/forirpt 3iiz Aol I AT
[Option ID = 11793]

2) Who among the following has propounded Scientific Management theory?
forgatfeiRaa 3 A fp21ol dsmiford yderar RBigia «l gferaifea fop=m 3 ?

[Question ID = 2950][Question Description = S1_qSNz_PG_EDU_Q22]

1. Gullick and Urick/3sjferes siie f¥a

[Option ID = 11797]
2. F.W. Taylor/uew ssceg ecR

[Option ID = 11798]
3. Elton Mayo/uccer =it

[Option ID = 11800]
4. Peter Drucker/dicz a2

[Option ID = 11799]

Correct Answer :-

® Gullick and Urick/sjfere siie gf¥a
[Option ID = 11797]

3) Which of the following states the principles of Scientific Management theory?

forgatferRaa 31 3 Plat dsuford ydetra Rigia & el awdl ol admar 3 ?

[Question ID = 2951][Question Description = S1_qSNz_PG_EDU_Q23]
1. Science, not rule of thumb, Harmony, Co-operation, and personal efficiency level/fisire, g, @il ,aRPD GEIAT I3 , AQPIATIT AT RIMABIID oldt

[Option ID = 11801]
2. Leisure time, Work environment, Harmony among employees, and relation with employer/siadior a1 eI, Bl B2 B ARG , dataiil & dia Aeiere1, a2 orwT
@D AT Aeex

[Option ID = 11802]
3. Working hour, Profit from work, Work-specification, and leisure time benefit/@mi @ &, @ A cisr, wrRi-RfSor, 3l SradbIOr AT I sl

[Option ID = 11803]
4. Routine work, Hierarchical structure, Motivation, and Punishment/fsrfdra @1, ustoqayfdr izdor, g2um 3l g5

[Option ID = 11804]

Correct Answer :-

® Science, not rule of thumb, Harmony, Co-operation, and personal efficiency level/fdsirel, g, a6l ,JaRpd Gl AR , A AT RSB o3t
[Option ID = 11801]

4) Who among the following list of thinkers of management has developed the theory of “Variation”?

gdtiel & ferarae! &t foraferRaa Iyt 3 3 fpzma "fafderar” & Rigia ot el e 3 ?

[Question ID = 2952][Question Description = S1_qSNz_PG_EDU_Q24]
1. Peter Drucker/dicz soz

[Option ID = 11805]
2. Mouton and Blake/diicar 3iiz sl

[Option ID = 11806]
3. Edward Deming/usas sfier

[Option ID = 11807]
4. Henry Fayol/er3t weiter

[Option ID = 11808]



Correct Answer :-
e Peter Drucker /s saz

[Option ID = 11805]

5) What does PDCA stand for in the theory of Total Quality Management (TQM)?
et apurar gderol (TQM) @ Rigia 3 PDCA @1 a=ir aref 3 ?

[Question ID = 2953][Question Description = S1_qSNz_PG_EDU_Q25]
1. Play, Dig, Cry, Act/ta, f3e1, @i, vac

[Option ID = 11809]
2. Plan, Do, Carry, Act/terel, 5, ©f, vac

[Option ID = 11810]
3. Plan, Do, Check, Act/tetrol, 5, A, Tac

[Option ID = 11811]
4. Publish, Dashboard, Careful, Act/uaferer, Sorals, B3Ry , vac

[Option ID = 11812]
Correct Answer :-
® Play, Dig, Cry, Act/, f&er1, @18, vac

[Option ID = 11809]

6) Which of the following gives a description about health and health-related states of an individual?

forgotferRaa o A el AT cuARRp B Farrer 3z Faren A AdfRd sazen d ar A Rrazor 3ar 3 ?

[Question ID = 2954][Question Description = S1_qSNz_PG_EDU_Q26]
1. ICF Model/ICF sifser

[Option ID = 11813]
2. ICMR Act/ICMR siféifrm

[Option ID = 11814]
3. UGC Model Act/UGC difser aiférforme

[Option ID = 11815]
4. PWD Act/disecst siftiformer

[Option ID = 11816]
Correct Answer :-
® |CF Model/ICF dfsa

[Option ID = 11813]

7) How many types of disabilities are listed in the PWD Act 2016 of India?

HRA @ disecydl aiftrforrer 2016 31 fReaot goor &t Riavatiorar Ixehag 3 ?

[Question ID = 2955][Question Description = S1_qSNz_PG_EDU_Q27]
1. Five (5)/uia (5)
[Option ID = 11817]
2. Fifteen (15)/tgg (15)
[Option ID = 11818]
3. Twenty-one (21)/sadbir (21)

[Option ID = 11819]
4. Twenty-seven (27)/asa (27)

[Option ID = 11820]

Correct Answer :-
e Five (5)/uim (5)

[Option ID = 11817]
8) As per 2011 Census of India, what is the total number of disabled persons in India?
2011 bt 91 b SIGPIVIGH O GRIR, R 3 el &bt ager e bl 3 ?

[Question ID = 2956][Question Description = S1_qSNz_PG_EDU_Q28]
1. 1.8 crore/1.8 @34s [Option ID = 11821]

2. 2.68 crore/2.68 @3s [Option ID = 11822]

3. 3.80 crore/3.80 @3 [Option ID = 11823]

4. 4.86 crore/4.86 m3s [Option ID = 11824]



Correct Answer :-
® 1.8 crore/1.8 @3s [Option ID = 11821]

9) Match List | with List Il

List | List Il

System of education  |Meaning of the system of education

A. Inclusive education |l. Where the disabled children are taught in separate institution

B. Special education |ll. Where the children with special needs are taught along with normal ones|
C. Integrated educationl|lll. Where the children without any special needs are taught

D. Normal education [IV. Where disabled children are taught in the same class with special care
Choose the correct answer from the options given below:

It -1 Bt e -1l A gakma Hifde

et -1 et -li
forem-oeraren  [fAIgm-crazenm o aref
g;&ﬂ oft |. 5161 feozuisT sl @l 3iciol AT A UGRIT STl 3
B. 11,5131 fafdrse SRedl arcr acdl ol ATHTRT J<dil D AT UGRIT
ffaforee forem  [oimar 3
C. . ] )
st Rz 11,518t e fafdrse Sieedl arcl <l @ UGRIT SIal &
D. IV.18f fee=tior aedl @) ATl @il 3 fI9y eAreIyd® UGRI SIrdr
pIare forgm @

off< feu are fpedl 3 A A8 3R gfore :

[Question ID = 2957][Question Description = S1_qSNz_PG_EDU_Q29]
1. A-,B-Il,C-1I,D-1IV

[Option ID = 11825]
2. A-1,B-1,C-IV,D-Ill

[Option ID = 11826]
3. A-1L,B-1V,C-1I,D-I

[Option ID = 11827]
4. A-1,B-1IV,C-1,D-1ll

[Option ID = 11828]
Correct Answer :-
e A-I,B-Il,C-Ill,D-1IV

[Option ID = 11825]

10) Match the theory of leadership in column-A with its focus in column-B.

List | List Il

Leadership theory Basic focus of the leadership theory

A. Contingency theory |[l. Motivate followers by appealing to their interest areas

B. Transactional theory |ll. Identify needed change and create a vision for the organization and make people commit to it|
C.Transformational theoryl|lll. Understand the needs of people and satisfy them

D. Servant theory IV. It is the circumstance that make a leader

Choose the correct answer from the options given below:

®ic-A 3 sigea Rigia @ e @icei-B 3 aigea Rigia & smemsa og A Jafera Hifsme :

et -l et -l
olgca Rigia olgca Rigia @ smemsd aog
A,
UBRADAT || 3ol Bt Jord> BRI GG B oI Yfed o3
Rrgia
B. dor-2or oot |||+ 3MA9A® ui¥adol ol usare! iz JsToel @ fere v zfte gomrd
Brgia iz cliell ol s fere yferag o3
C. aRadotDHl)||, il &t sresecl @) 2R a2 Io8 dgee BI
Rrgia
D. ST BT |y, o5 ag ubsReafr & & it v i @t wonedt 3
Rrgia




offa fou o1 frpeul 3 3 A I gforw ©

[Question ID = 2958][Question Description = S1_qSNz_PG_EDU_Q30]
1. A-1,B-1,C-1I,D-1IV

[Option ID = 11829]
2. A-IV,B-1l,C-1Il,D-I

[Option ID = 11830]
3. A-IV,B-1,C-11,D-1I

[Option ID = 11831]
4. A-1ILLB-1,C-1l,D-IV

[Option ID = 11832]
Correct Answer :-
e A-Il,B-1,C-Ill,D-1IV

[Option ID = 11829]

11) What is the process of organizing inclusive education in a classroom?
A. Evaluation of students' progress

B. Identify CWSN in the class

C. Study the problems of CWSN

D. Plan and Organize teaching by adapting the method and approach
E. Provide feedback to stakeholders

Choose the correct answer from the options given below

o el 3 JFaraofl forer o Irrilstar ol yfdgan o= 3?7

A .B1q] DI gpIfer o1 FeAaidol

B. g 3 CWSN &t usara &3

C. CWSN bt ar=-=a131i T 31ERIeT B3

D. fafer siiz zfReplIvr @l sraetrn? fA1g10T Bl *Iaf¥e sz Jfornfora o3

E. Raars! @ gfegite &

il fou s1e fraseul 9 21 & Ia= goi ¢

[Question ID = 2959][Question Description = S1_qSNz_PG_EDU_Q31]
1. A,B,C,D, E

[Option ID = 11833]
2. B,A, D, E.C

[Option ID = 11834]
3. G,E,D,B, A

[Option ID = 11835]
4. B,C,D,AE

[Option ID = 11836]

Correct Answer :-
e AB,C,DE
[Option ID = 11833]

12) What are the essential requirements to make education inclusive?
3181 @1 FdTdoft Fotral @ fere g smagad 8 ?

[Question ID = 2960][Question Description = S1_qSNz_PG_EDU_Q32]
1. Teacher's competencies to teach, Teacher's Attitude, Classroom, and Computers/ 3ol 3 f1etp! bt Gerar, el B 30, Bel 3R PRI

[Option ID = 11837]
2. Parental involvement, Teacher's attitude, Teacher's competencies in teaching, and Administrator's support /- fier &t smefigt, fS1etat w1 3d=m, 3emdot
31 forgrat bt gerar iz yomia! a1 Jelor

[Option ID = 11838]
3. Peer group support, Teacher's competencies, Principal's support, Parent's involvement, and Counsellor's support/suifceii @ g a1 AHefor , forgiml i
GeIdI, yerrolrarf ot Jerelel, adr-fiar &b smefiersl, sl weielerar ar Jerefer

[Option ID = 11839]
4. Accessibility of institution, Support from teachers, Teacher's competencies, Peergroup support, and Counsellor's support/3izer &t uga, forerpt 3 Jwteler
, forerapt B gerar, Jsurfdeil & AsRIl, 3R uRmHlGIAr w1 el



[Option ID = 11840]
Correct Answer :-
® Teacher's competencies to teach, Teacher's Attitude, Classroom, and Computers/3iemuot &q forerpl bt Gararms, ot a1 31, Delr 3R PRIC

[Option ID = 11837]

13) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Democratic management is based on the principle of peoples participation.

Reason R: A leaders who takes administrative decision by himself/herself believes in democratic procedures.
In light of the above statements, choose the correct answer from the options given below

ofid <1 erol Ru se 3 uwes ol sifdraperet (A) 3R g @1 ads (R) @er sk &

sfdrperet (A) : ciopaifom gdere ciisil &t srplict & Rigia uz snenfea 3

a® (R) : P ol Sit =i gorrifors forof arar/ ot 3, cliaifefes gfepRimail 3 fReart o / oxdl 3

SWRfT Dl @ 3irclie 3 foratifepa faeul 3 A1 8 3= ol :

[Question ID = 2961][Question Description = S1_qSNz_PG_EDU_Q33]

1. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) glail 3@t 2 3 (R), (A) &t 3& ren 3

[Option ID = 11841]
2. Both A and R are true but R is NOT the correct explanation of A/(A) 3iz (R) gIeit 2@t 3 weog (R), (A) 6t A& e ot 3

[Option ID = 11842]
3. Ais true but R is false/(A) 3@ 8 uog (R) & o &

[Option ID = 11843]
4. Ais false but R is true/(A) 3@t oidt @ weoq (R) &t &

[Option ID = 11844]
Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) @leil 3@t & iz (R), (A) ot 3 wmee=n &

[Option ID = 11841]

14) Which of the following is known as unit cost?
forgsiferRae 31 31 RpY sPIE cIPIA @ WU 3 SII6 &Il 3 ?

[Question ID = 2962][Question Description = S1_qSNz_PG_EDU_Q34]
1. Total expenditure incurred by an institution and spent by it/fp=it e grRI i sRII Get UK RRI 3R 3AD GRI BRI SRI RRT

[Option ID = 11845]
2. Total income minus the expenditure/=rr @ sifeif¥s @et IR

[Option ID = 11846]
3. Total amount earned from cess and donations/cget 91 e 3iR GIot A A DI 315

[Option ID = 11847]
4. Total expenditure by the institution divided by total number of students/3izen grI fibu 31w Get RRI Bl BIG] DI Gel FRRA gRI A fdpar srRr

[Option ID = 11848]

Correct Answer :-
e Total expenditure incurred by an institution and spent by it/fds=fl Jizen gr1 fdben sRI det JUsTA ®RI 3R IAD GRI A5l SRIT RRI

[Option ID = 11845]

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: NAAC assesses and accredits only those institutions of higher learning that have either completed six years of
establishment or have produced two batches of graduates.

Reason R: IQAC helps to find out the new courses to start and recruits teachers.

In light of the above statements, choose the correct answer from the options given below

ofl <l ool iR s 3 ue B sifirperet (A) iR g3 @I ads (R) @ar SR 3

atfdrperet (A) @ NAAC 3= 18t @ ddac 3681 AFATell DI 3MTetol DI 3R 368 AT ¢l 3, SIeaiol 3Ueil Fenuel @ B8 AT g3 o= e
3 a1 foford Folia® @ <l §a It &

aw® (R) : IQAC B1q] @I o1t YRJsI b Sirol Al UrgRIayt ®I udl ool 3 3R forgrpl &l sicf @01 3 J15c B2ar &
SRt Uil @ siclid 3 forFstifdod fameul 3 A I8 3= Yo :

[Question ID = 2963][Question Description = S1_qSNz_PG_EDU_Q35]
1. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) gleil 3@t 2 3l (R), (A) &t 3& ren 3



[Option ID = 11849]

2. Both A and R are true but R is NOT the correct explanation of A/(A) sz (R) g6l 2t & weeg (R), (A) 6l et == oiet 8
[Option ID = 11850]

3. Ais true but R is false/(A) &t 8 woq (R) &l o8l 8

[Option ID = 11851]
4. Ais false but R is true/(A) 3@ oidf 3 woqg (R) 28 3

[Option ID = 11852]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) glail 3@t & 3z (R), (A) 6l & ®mcn 8
[Option ID = 11849]

Topic:- Education_SH1_D

1) Read the following passage and answer the question.

Pedagogy as practiced today in the classroom is mostly a teacher-centred, input-output model. It entails inputs by the teacher. It envisages a prototype
output in the learner, confined within the philosophy — ‘What is relevant for examination is relevant for education’. However, in the context of learning
in the constructivist framework, the ‘Desirability’ of Teaching-learning Process (TLP) consists of input by the learner leading to output by the learner. One
may call this the learner-centred input-output model. However, optimisation of TLP leading to maximization of meaningful learning cannot afford to
consider the teacher and the learner in isolation. Thus in ‘Ideality’ the composite model for TLP involves input by both the teacher and the learner
expecting a planned construction by the learner. This means the ‘Reality’ should help the ‘Desirability’ to approach the ‘Ideality’. We call this crucial
because through conclusive field study-based evidences constructivism advocates that; the learner constructs his/her knowledge, no learner enters a class
devoid of personal constructs (Alternative conceptions), and knowledge is constructed through a process of conceptualization. Thus to maximise
meaningful learning it is essential to know what are the contributing structures (inputs) the learner carries with him/her into the classroom and using

which he/she is going to construct new structures (output).

ofia fgu a1u srerior @l ug 3R Yool &I 3R 38

31rst 1 U 3 et 3 fR1810T- 91 ki@ Bl 3 a8 MfUPIN: sreud-diocd, fordor-afsdor siise 3. 331 sieaa® FRI forder 3rfdid siar 3. sd siftPrRImdl 3 e sirerRsu afdder
uf¥efeud 3iar 3 sit 33 forar A sirag 3iar 3 5 ‘S udien @ fore yribie 3, as fArsrur @ fore oft yrifdre 3. Roq, Jivacirardt dq 3 sifeerer @ uf¥ggr 3, fArgror-sifeerea gayar (Saedl)
bl ‘divofiRIar 3 siffPEwdl GRI fa?) Sirel arcl forder A Icusol sifeeRmat o afdder onfira alar 3. 33 sifferpImal-dfoga foragr-afdder sisc war s Awar 3. aenfty, et &
sEeaadr A siford Arefd sif2remr sifirpaarsmor & fore st iR sif2ereredl B geres o2 @ ofdl ST it Addl. $3 YR ‘sncofa:’ Euedl & afdag) sifsa 3 sreamue iz sifprraat
Sloil @i forarer enfirer dar 3 siiz siferar@dl gr1 vas fornfSa foif3ifr B srdg &I siredl 3. s30T 31ef 3 b ‘smgef Refer’ awm ugdor @ fore ‘arenel’ @) ‘aisoiiiar w1 JAsrI® Sloll aifde. s
33 Ascayuf ®ad 3 aifep fOruTRID 81 3rERIGH-renf¥e A1l D ATERMH A IIAGIMAIS 3H] aPIeId Dl § fp; ifeErRImdl 3ruol siiel oI forivr wal/amdl 3, BIS off siferarat
Fuaftpo foifdiferil (Jofeus Awcucnsi)) A Mda at w2 wen 3 YAl ordl w 3 3iiz sirot o1 forfur Facuor-forerzor 6 vas yfpr o are1e A S 3. 31: Arefa 3if2ere ot siftrvasn
olrol @ {10 UG SireToll TA9AD & fop sifeErImdl bl Hl AMeCRT Fizaenu (fora9r) sruol AT o B B A YAl D/l 3 3R RPRID YRt B GRI a8 off Aaen3il (afdder) o1 forerior
ol arerr/archt 3.

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Education today is based on the belief that “what is relevant to examination is relevant to education.”
Reason R:  Constructivist approach is based on “input by student leading to output by learner.”

In light of the above statements, choose the correct answer from the options given below

ofldl 31 werel RRu s 3 @ s ol sifdrperot (A) 3iiR g @Y aw (R) st srRm 3

sifdrperor (A) @ adarer 18 s erun Uz smenfyd 2 o5 "Sit udien @ fere yrifdre 3, as fAigr o fore off yrifdra 3.
ads (R) : FHraeTrard surwt "Renelf FRT R St ardt frder 3 Seusot AREREImaf & afsder” uz snenfya 3.

SwRfes Derell B el # Rrstifea Riwedt 3 3 & a2 g9t ©

[Question ID = 2964][Question Description = S1_qSNz_PG_EDU_Q36]

1. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) Qail 3 3 3li2 (R), (A) &t 3 wmeen 8

[Option ID = 11853]
2. Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) g6l 3%t & weag (R), (A) 6t 3t == oidt 8

[Option ID = 11854]
3. Ais true but R is false/(A) 3@ 8 ussg (R) 3t ordt &

[Option ID = 11855]
4. Ais false but R is true/(A) @t ol 8 waog (R) 1t 2

[Option ID = 11856]

Correct Answer :-

e Both A and R are true and R is the correct explanation of A/(A) sfiiz (R) gleil 3t & 3z (R), (A) 6 & e 3
[Option ID = 11853]



2) Read the following passage and answer the question.

Pedagogy as practiced today in the classroom is mostly a teacher-centred, input-output model. It entails inputs by the teacher. It envisages a prototype
output in the learner, confined within the philosophy — ‘What is relevant for examination is relevant for education’. However, in the context of learning
in the constructivist framework, the ‘Desirability’ of Teaching-learning Process (TLP) consists of input by the learner leading to output by the learner. One
may call this the learner-centred input-output model. However, optimisation of TLP leading to maximization of meaningful learning cannot afford to
consider the teacher and the learner in isolation. Thus in ‘Ideality’ the composite model for TLP involves input by both the teacher and the learner
expecting a planned construction by the learner. This means the ‘Reality’ should help the ‘Desirability’ to approach the ‘Ideality’. We call this crucial
because through conclusive field study-based evidences constructivism advocates that; the learner constructs his/her knowledge, no learner enters a class
devoid of personal constructs (Alternative conceptions), and knowledge is constructed through a process of conceptualization. Thus to maximise
meaningful learning it is essential to know what are the contributing structures (inputs) the learner carries with him/her into the classroom and using

which he/she is going to construct new structures (output).

ofia feu a1g sterior @ ug 3z gest @I Jaz 3@

31t 311 35U 3 et 3 fO181VT- 91 RIded Bl & as If2rapigra: sremud-dfogd, foraer-afddor sifsd 3. sdl sicamud GRI fordor rfdra aiar 3. $313l sifeerrdmdl 3 ud smersu afddor
uf¥esfeud alar 3 sit s frar A smag aiar 3 5 ‘s udlen @ fore Yribe 3, as digmr & fore oft yrifdre 3.’ freq, Faomard) dq 3 sifferer o ulg 3, Premr-siferr gaar (Suedl)
&6l ‘aigolizar # siffeEimdl GRI fase1 ol ardl foraer I Icuool siffErRImTdl o1 afdder enfdrer iar 3. 33 siffPRImal-dfoga foraer-afdder sifse war st Awar 3. denfty, et bt
FECaadr A Siford el if2rpTr sifiraaraor & fore st iR sif2erradl B geres o2 @ ofdl ST oIt AL $3 YR ‘sncofa:’ Euerdt & afdag) sifse 3 sreamue e sifepreraat
Qloil @1 forarer enfirer dar 3 silz siferar@al gr1 vas forNfSra foifdifr B s &I siredl 3. s30T 31ef 3 b ‘sngef Refer’ awm ugaor @ fere ‘renel’ @) ‘aisoiiRiar w1 JAsrRI® Sloll aifde. s
33 Ascayyf dad & aAifs ORI &1 3reRIoT-renfye A1l o ATEIH A TGS 33h] qPIcId Bl & fp; ifPErRImdl Ul el oI forivr waal/amcdl 3, BIf off siferaraat
Juaftpo fififtrR (Jofeus Awmcuonsil) A Mea at w2 wen i YAl ordl w3 iz siro1 @1 forfur Hiacuor-forerzor B vas yfipr & areme A Siar 3. 31a: Arefa 3if?ere ot siftravasa
ollol @ 1T UG Siieloll Ta9A® & b sifferimdl wiot 2l AeTcrRN Fvaenu (ford9r) 3ract ATer A B2 Bei A YA Bar/dxdl 3 3z I GRieT B SR a8 of Haenail (afdder) o1 forerfor
@2 arctr/arctt 3.

What does constructivist approach advocate?
A. Learner constructs his knowledge

B. Teacher is fore-runner of knowledge

C. Books are the basic source of knowledge

D. Each learner has his own constructs

E. Conceptualization process is individualistic

Choose the correct answer from the options given below

JAzaelarct 3uPE el amrerd war 37

A. siftEracsdl 16l Sifel oI foraiur w=ar 3.
B. sreamuas sirel @1 391-gel eI 3.

C. gy¥ads siiel @I el Jd 3.

D. g sifeeraedt & sruoft Fa=i 6 foifdifer axct 3.
E. Jwcuen-frerfzor &bt gftpen aftp-forss aXet 3.

offa few are faraseul 3 A & 32 gol.

[Question ID = 2965][Question Description = S1_qSNz_PG_EDU_Q37]
1. A, B, and D only/

Pact A, B 3k D
[Option ID = 11857]
2. A, C, and E only/daet A, C iz E

[Option ID = 11858]
3. A, D, and E only/d@act A, D siiz E

[Option ID = 11859]
4. C,DandE only/dact C, D aliz E

[Option ID = 11860]

Correct Answer :-
e A, B, and D only/

dact A, B aR D

[Option ID = 11857]

3) Read the following passage and answer the question.

Pedagogy as practiced today in the classroom is mostly a teacher-centred, input-output model. It entails inputs by the teacher. It envisages a prototype



output in the learner, confined within the philosophy — ‘What is relevant for examination is relevant for education’. However, in the context of learning
in the constructivist framework, the ‘Desirability’ of Teaching-learning Process (TLP) consists of input by the learner leading to output by the learner. One
may call this the learner-centred input-output model. However, optimisation of TLP leading to maximization of meaningful learning cannot afford to
consider the teacher and the learner in isolation. Thus in ‘Ideality’ the composite model for TLP involves input by both the teacher and the learner
expecting a planned construction by the learner. This means the ‘Reality’ should help the ‘Desirability’ to approach the ‘Ideality’. We call this crucial
because through conclusive field study-based evidences constructivism advocates that; the learner constructs his/her knowledge, no learner enters a class
devoid of personal constructs (Alternative conceptions), and knowledge is constructed through a process of conceptualization. Thus to maximise
meaningful learning it is essential to know what are the contributing structures (inputs) the learner carries with him/her into the classroom and using

which he/she is going to construct new structures (output).
ofid feu 31e sreror @l ug 3R gost &I 3= 38

31t 311 U 3 e 3 fO181vT- 91 sIaed Bl & as Iferapior: sreamud-dfogd, foraer-afddor sifsa 3. s34l sieamud gRI fordor rfara iar 3. s33l sif?enrmdl 3 ub smersu afdder
af¥efeud glar 3 Sit 53 forar A s diar 3 6 ‘St udlen @ fére yrRilIe 3, as fA1smv1 & foru sfi grRire 3.’ fopoq, Hvaecard) dq # a2 @ uf¥ggr 3, frsrr-sifeee yaod (fuedl)
bl ‘aivofiar i siffpEIEmdl GrI B3 sirel arel forder A Icusol sifeeRmdat o1 afddor onfire alar 3. 3 sif2PErRImal-dloga foragr-afdder siise war s Awar 3. aenfty, duvertdt &t
AT A SN Arel 2P st rpaaraur & fore st iR siffpreradal ) geres w2 @ ofdl ST Sl AL 3 YR ‘nsofa:’ uerdl & afdag) difsa 3 sreamu iz siftprrmdat
Slail @bt forarer onfirer ien 3 siiz siferETareral FrRI vas fornfSra forfdfer bt srg ot et 3. s2a00T 3ref 3 fp ‘anrcof Rrerfer’ aw ugaet @ fere ‘arenel’ @t ‘aigoiiRar @1 JsRIG dlo aIfde. s3
3 siscayyf wed 3 aeiifes forurfera g1 srezrRIor-smenfed Mgl @ ATerat A eI sADI awleld Bl & [p; el sraet siret o1 forfur e/l 3, ®If oft sifferraat
Fafepe foildiferil (dasfeus Facuonsat) A Hda 3l a2 e 3 YA 9r ordl war 3 3iiz sirer @1 forafur Adcuotr-forerizur &bt vas yfepam o #Areet A idr 3. 3id: Arefad 3if2emer ol siftrasas
Sollol @ 1T UG SiieToll 3Ta9A® 3 b sifferrddl wiot 2l AeTcRN Fvaeu (fB191) 3ract AT A B2 Bl A YA Bdr/dxdl 3 3z D GRieT B SR a6 off Hzaenail (afdder) o1 forsrfor
Dol arctr/arch 3.

Which of the following characterize Constructivist approach?
forgrferRaa A A dlar FHeaemard) ureta o sifdragor 3?7

[Question ID = 2966][Question Description = S1_qSNz_PG_EDU_Q38]
1. Learner centeric/siféerramal dfoga
[Option ID = 11861]
2. Teacher centeric/sie=mus dfoga
[Option ID = 11862]
3. Group centeric/33g dfsga

[Option ID = 11863]
4. Subject centeric/firrr dfoga

[Option ID = 11864]

Correct Answer :-
® |earner centeric/sifépRidpdal dfoga
[Option ID = 11861]

4) Read the following passage and answer the question.

Pedagogy as practiced today in the classroom is mostly a teacher-centred, input-output model. It entails inputs by the teacher. It envisages a prototype
output in the learner, confined within the philosophy — ‘What is relevant for examination is relevant for education’. However, in the context of learning
in the constructivist framework, the ‘Desirability’ of Teaching-learning Process (TLP) consists of input by the learner leading to output by the learner. One
may call this the learner-centred input-output model. However, optimisation of TLP leading to maximization of meaningful learning cannot afford to
consider the teacher and the learner in isolation. Thus in ‘Ideality’ the composite model for TLP involves input by both the teacher and the learner
expecting a planned construction by the learner. This means the ‘Reality’ should help the ‘Desirability’ to approach the ‘Ideality’. We call this crucial
because through conclusive field study-based evidences constructivism advocates that; the learner constructs his/her knowledge, no learner enters a class
devoid of personal constructs (Alternative conceptions), and knowledge is constructed through a process of conceptualization. Thus to maximise
meaningful learning it is essential to know what are the contributing structures (inputs) the learner carries with him/her into the classroom and using

which he/she is going to construct new structures (output).

ofia feu a1g sterior o ug 3iiz gest @I 342 3:

31t 311 U 3 et 3 fO181vT- 91 saraed BXar & as 3iferapior: sreamud-dfogd, foraer-afddor siisa 3. s3dl sieamud GRI fordor rfdia aiar 3. s33l sif?enmdal 3 b smersu afdder
afsesfoud 2iar 3 5it 331 Rrar A arrag dar 3 Ro ‘Sl ufign & Rre yrifies 3, as Risir & R ot qribie 37 Roed, Azdorardt de af aiftierr & ufkgga ¥, Risior-sif2omr gar (Seerd)
&6l ‘givoiiar 3 siffeErmdl grRI ) ot ardl foraer A Icuoo sifferImdl o1 afdder enfirer diar 3. 33 siffPRImal-dfoga foraer-afzder siisc war st Awar 3. denfty, duerdt b
SECAHAT A Sifold ATl 2P SR IBAHDI B e sreamue 3ii? siffeRIadl Bl yere o @ oidl $31 Sif Addl. $3 YR ‘sicefa:’ Euerdl @ Afdag) dfse  sreamud siiz siffeRiaodt
Sloil @1 forarer onfdret dar 3 siie sifterar@al gr1 vas fornfSra foifdifer B srdgmm &bt siredt 3. 37001 31ef 3 b ‘smeof Raftr’ awm ugdaar o fore ‘renel’ @1 ‘aisoiRIar w1 JAsRI® Sloll aifde. 53
33 Aiscayyf wed 3 aeIifs foruifras &1 srerRIor-smenfyd gl @ ATeAH A FHITAGIAIS FADI apIerdd BT 3 fp; siferraaf sraet siret @1 forafor wean/@wdl 3, ®1F oft sifferaraat
Juafepo foifdiferil (Jofeus Awcuonsil) A Mea 8t w2 wen i a9l ordl w3 iz siro1 1 forfor Facuon-forerfzor B vas yfipn & areer A Slan 3. 3ia: Arefa siffere ot siftraoaan
Sollol @ foIQ 28 SiieToll Ta9A® 3 b sifferrddl wiot 2l AeTcRN Fzaoy (fB191) 3ract AT A B2 Beit A YA ddr/dxdl 3 3z D GRier B gRI a8 of Hzaenail (afdder) o1 forsrfor
Dol arctr/archt 3.

What type of teaching-learning process is practiced today in our classrooms?
qearel R A A Deisil A b yoor @1 PigvI-af2eRI yma <raed didar 87

[Question ID = 2967][Question Description = S1_qSNz_PG_EDU_Q39]
1. Student centeric/feneff dfsga

[Option ID = 11865]



2. Teacher centeric/si=muem dfoga

[Option ID = 11866]
3. Practice based/xasrR smenfsa

[Option ID = 11867]
4. Computer based/®wie? smenfsa

[Option ID = 11868]

Correct Answer :-
e Student centeric/faeneff dfoga
[Option ID = 11865]

5) Read the following passage and answer the question.

Pedagogy as practiced today in the classroom is mostly a teacher-centred, input-output model. It entails inputs by the teacher. It envisages a prototype
output in the learner, confined within the philosophy — ‘What is relevant for examination is relevant for education’. However, in the context of learning
in the constructivist framework, the ‘Desirability’ of Teaching-learning Process (TLP) consists of input by the learner leading to output by the learner. One
may call this the learner-centred input-output model. However, optimisation of TLP leading to maximization of meaningful learning cannot afford to
consider the teacher and the learner in isolation. Thus in ‘Ideality’ the composite model for TLP involves input by both the teacher and the learner
expecting a planned construction by the learner. This means the ‘Reality’ should help the ‘Desirability’ to approach the ‘Ideality’. We call this crucial
because through conclusive field study-based evidences constructivism advocates that; the learner constructs his/her knowledge, no learner enters a class
devoid of personal constructs (Alternative conceptions), and knowledge is constructed through a process of conceptualization. Thus to maximise
meaningful learning it is essential to know what are the contributing structures (inputs) the learner carries with him/her into the classroom and using

which he/she is going to construct new structures (output).

ofid feu a1u srerior @t ug 3R gest @I 3= 38

1St 3121 29U 3 Deit 3 IISIVT- 91— RIaEd Bl & a8 AfAUDIoNT: sieamum-diogd, fordor-afddor sifsa 3. s sieamu® GRI fordor srférd iar 3. 333 siffPrRmdl 3 o sirereu afdder
ufyefeud iar 3 sit 31 frar A simag 3iar 3 136 ‘i udtgn @ fere yrRire 3, as g & fore oft grifdres 3.’ Reeq, Fvacmard) dq 3 sif2rrer @ uf¥g 3, frgrr-siferr gaar (Soedl)
&l ‘diolizrar # siffeErmdl grRI ) Sl ardl foraer A Icuoo iffEIdmdl o1 afdder onfiret 3iar 3. 33 siffeRITdl-dfoga foraer-afzder sifsc war st Awar 3. denfty, duerdt H
SECAHAT A Sifold ATl IfUETA SifBadD01 B e sreamues 3iiR sifeIEIPdl B Yyerd ©2 d ofdl ST oIl Addl. 31 YR ‘sicefa:’ Euerdt & Afdag) difsa 3 sreamu 3iiz siffeRiadt
Sl o fordor onfiret 8lar 3 sii sif2prarddl grI v forifsra foifdtfer Bt srgm bl sl 3. s3rp1 3ref 3 b ‘gl Reerfer’ ad ugaa @ fere ‘Trenel’ ol ‘aivofikiar @I JsRI® slel a1fdu. 531
53 srgcayyi wea & aeiifos foruiira gid s1erIor-3mentyd Mgl B ATEAA A IRIGIAICS $ADI aTeld DI 3 fp; el srae! sirel @1 forafvr waar/mdl 3, @I$ ot sifprarmat
Jafepo foildiferil (Jopfeus Adcuosil) 2 A3a &l B2 weir A YAl oidl w2 & 3iiR St @i foraafvr Aacuotr-forerizur bl vas yfepzn o aAreret A iar 3. 3i: Aref® 3if2eer ot siferaasn
Hollol @ feru A Siretoll 3Ta9A® & b sifterradl wiot 2 AeTeRA Fvaeiu (foragr) et ATer A B2 Bl I YA Bdr/Bxdl 3 3R RIS YRIIeI B SRI a8 off Haeail (afdder) w1 forarfor
ol arcti/drcil 3.

How is output of teaching-learning visualized today?
forgur-3ifererar @ afdctor ol adlanrer 3 fop=1 u A <t simar 87

[Question ID = 2968][Question Description = S1_qSNz_PG_EDU_Q40]
1. Proto type/smersu

[Option ID = 11869]
2. Differential/fasigs

[Option ID = 11870]
3. Societal relevance/mnfSie yrRifdimar

[Option ID = 11871]
4. Financially gainful/firfr su 3 cnscrId

[Option ID = 11872]
Correct Answer :-
® Proto type/sirerRsu
[Option ID = 11869]

Topic:- Education_SH1_E

1) Among the following which relationship remains inconclusive?

forgetfeiRaa ot A wlol AT FFaoer siforvifras o 25T 3 ?

[Question ID = 2969][Question Description = S1_qSNz_PG_EDU_Q41]
1. Micronutrients are helpful in the cognitive development /3jg# diue dra 3if=iolicAd [ADRI 3 ABRID Bl &

[Option ID = 11873]
2. Malnutrition can impair cognitive development /guluvr Sif8rsiolard PRI P! dIfeld B2 Add 3

[Option ID = 11874]
3. Eating breakfast is beneficial for cognition/siciaret @3on 3ifdrsiiol @ e CIMIGRID &

[Option ID = 11875]



4. Obesity has an association with cognition/sllerd @1 sifdrsirer 3 AFdotr 3
[Option ID = 11876]
Correct Answer :-
e Micronutrients are helpful in the cognitive development /3jg# dlud awa sifdrsiiollcaAd DRI 3 ABRID Bl 3

[Option ID = 11873]

2) Match List | with List |

List | List Il

Concept Characteristic

IA. People who live in individualist cultures|l. opposes Western approaches to the study of personality in non-Western settings|

B. People who live in collectivist cultures |ll. tests Western ideas about personality in other cultures

C. The cultural-comparative approach lll. value social harmony, respectfulness, and group needs

D. The indigenous approach IV. value independence, competition, and personal achievement

Choose the correct answer from the options given below:

et -1 B e -1l A g Hife

et -l et -1l

SraemoT IEOCGIN

A.Sit clie1 cafepardt |.3-uf2efl wraven d =aftpea @ s1eRIel @ fere
Rizpferil 3 a3 ufefl zfScpivr @ fRRler o 3

B.sil cfier A3 Il.315%1 JArapferil 9 cafepea @ aR? 3 ulRell Rt or
irpferl 3 e 3 TEISI0T B3l 3

C.airopfire-dereicas ||l amenfSie Agra, Fearet iR Ags HI sRedl ol
efdcaplor BT 1 8

D .Fagoft zfdecmiur IV.3c21 Facdqean, gfernBra, siiz caftpora sucfder

oifa feu aru faasedl 3 A A8 3R gforu :

[Question ID = 2970][Question Description = S1_qSNz_PG_EDU_Q42]
1. A-1l,B-1I,C-1V,D-1

[Option ID = 11877]
2. A-IV,B-1Il,C-1I,D-I

[Option ID = 11878]
3. A-1L,B-1,C-1I,D-1IV

[Option ID = 11879]
4. A-11,B-1V,C-1,D-1I

[Option ID = 11880]
Correct Answer :-
e A-Il,B-NI,C-IV,D-1
[Option ID = 11877]

3) “Health is a state of complete physical, mental, and social well-being, and not merely the absence of disease or
infirmity.” This definition is from:

"Farre gt oIk, AxIRIe iR Arie Jrareda 8, o fio dad dlasl ar gdoar & sequierfa * s af¥urar wsr A off srit 3 ?

[Question ID = 2971][Question Description = S1_qSNz_PG_EDU_Q43]
1. World Health Organization /féea Farzesr Jsicer

[Option ID = 11881]
2. World Bank/fea d@

[Option ID = 11882]
3. American Psychological Association/sm@if¥der seidsiifors zen

[Option ID = 11883]
4. World Federation for Mental Health/3meiR3 s Fares @ fore e e

[Option ID = 11884]

Correct Answer :-
e World Health Organization /fdea Farzesr Jisice



[Option ID = 11881]

4) Successful intelligence involves three different factors (i) analytical intelligence, (ii) creative intelligence, and (iii)
practical intelligence. This theory of intelligence belongs to:

ABel gigIrdr I ol 3IereT-31c1e1 PRM INfiIe & (i) faeauvneas giger, (ii) oo gfgaar iz (iii) c=nasii¥® gigaar gfigaar o1 A Rigia
st 3 ?

[Question ID = 2972][Question Description = S1_qSNz_PG_EDU_Q44]
1. Howard Gardener/smas susorz

[Option ID = 11885]
2. Daniel Goleman/3forIct sitctdior

[Option ID = 11886]
3. Robert Strenberg/3fac 3¢arast

[Option ID = 11887]
4. Carl Rogers/rct At

[Option ID = 11888]

Correct Answer :-

o Howard Gardener/3mas snsez
[Option ID = 11885]

5) Wechsler Adult Intelligence Scale helps in measuring:

AR RIFD JlGHdl Aol oD Agel 3 HAcs Dxdl 3 ?

[Question ID = 2973][Question Description = S1_qSNz_PG_EDU_Q45]
1. Intellectual abilities/difga goram

[Option ID = 11889]
2. Social intelligence/ s gigar

[Option ID = 11890]
3. Emotional intelligence/ siarcare-gfgarr

[Option ID = 11891]
4. Multiple intelligences/ss-gfgaen

[Option ID = 11892]
Correct Answer :-
e Intellectual abilities/difgew g@rams

[Option ID = 11889]

6) Regarding metacognition which statement is NOT correct?

31f¥rsirol @ JAder i Blol AT Dol A8 ofdl 3 ?

[Question ID = 2974][Question Description = S1_qSNz_PG_EDU_Q46]
1. Metacognition is thinking about one’s thinking. /aifrsirer , fapft bt 2l @ a3 3 Ao 3

[Option ID = 11893]
2. Metacognition refers to the processes used to plan, monitor, and assess other’s understanding and performance. /aiférsiret 31 arwf 3o yfepenail 31 3 St
AISTeTl Jottol 31 , foPrRIGl W20l 9t 3l GRI bt st 3l Ygelor BT sideiol B0l B fére IuRiler di St &

[Option ID = 11894]
3. Metacognition includes a critical awareness of one’s thinking and learning. /siférsiret 3t fép=ft &1 3ita iz 3ol 6t FacayVl SIPReGAr onfiet &

[Option ID = 11895]
4. Metacognition requires students to externalize mental events. /3ifdisiiel © gRI BIGI B! ARG AcalIsil ®l dE2 forpiciol bl Ma9Addr aldl 3

[Option ID = 11896]

Correct Answer :-

® Metacognition is thinking about one’s thinking. /siférsirer , fepft &t ra @ ar 3 Haon 8
[Option ID = 11893]

7) Students create their learning based on their previous experience is the basic assumption of the:

B Ul s stopra @ memR UR 3ol fArgm oor forerfor @t 32

[Question ID = 2975][Question Description = S1_qSNz_PG_EDU_Q47]



1. Constructivist learning theory /3qerarct sifée Brgia

[Option ID = 11897]
2. Behaviourist learning theory/xiasrRarc siftem  Brgia

[Option ID = 11898]
3. Cognitive learning theory/isimenen® aifterr Rrgia

[Option ID = 11899]
4. Humanism learning theory/smomadarmars siftee  RBrgia

[Option ID = 11900]

Correct Answer :-

® Constructivist learning theory /3domarc sifte RBrgia
[Option ID = 11897]

8) The concept of counselling is essentially:

raof &bl sraenon smaea® U A 3 ?

[Question ID = 2976][Question Description = S1_qSNz_PG_EDU_Q48]
1. Democratic/elwarfsgam

[Option ID = 11901]
2. Autocratic/udddtr

[Option ID = 11902]
3. Individualistic/cafeparct

[Option ID = 11903]
4. Humanistic/amerdaamarct

[Option ID = 11904]

Correct Answer :-
® Democratic/diiaifogm
[Option ID = 11901]

9) The approach to counselling in which the therapeutic process is directed along lines considered relevant by the
counsellor is named as:

SJuditicl d fore g zftcmivr Rl Rifde i yftppn o1 ueEiof gian grI RISt el skt faf2r & grr foréfra e siar 3, @1 o 3:

[Question ID = 2977][Question Description = S1_qSNz_PG_EDU_Q49]
1. Non-directive counselling/3l>-forgormeae Iuditror

[Option ID = 11905]
2. Directive counselling/ferconcae® 3udierer

[Option ID = 11906]
3. Eclectic counselling/3icctrelcaid udlerot

[Option ID = 11907]
4. Vocational counselling/=manRim werolor

[Option ID = 11908]
Correct Answer :-
e Non-directive counselling/3Iz-foigonca®m 3udleror

[Option ID = 11905]

10) Match List | with List Il

List | List 11

A. Client-centred approach of counselling |I. Sigmund Freud
B. Psychodynamic approach of counselling [Il. lvan Pavlov

C. Behavioural approach of counselling [lll. Aaron Beck
D. Cognitive approach of counselling IV. Carl Rogers
Choose the correct answer from the options given below:

gl -1 @1 g -1l A Fgaifera Hifste ¢

ot -1 et -1l
A . uzreret o1 Aarelt dfoga eftcmior |. Brds GgrIs

~




B. uzrarei @1 AGileIicIs fScaior Il. sarer uraciia

C. w9l @1 RAdeRIcHD zicdIur 1. 3mRYeT 9

D .uzrer9f @1 JHsTolcaA® efScamiur
V. w1t 3ot

off<l feu oru fpedl 3 A A8l 3R gfore :

[Question ID = 2978][Question Description = S1_qSNz_PG_EDU_Q50]
1. A-1,B-1l,C-1ll,D-1IV

[Option ID = 11909]
2. A-1I,B-1l,C-1V,D- I

[Option ID = 11910]
3. A-IV,B-1,C-11,D-1l

[Option ID = 11911]
4. A-1ILLB-1V,C-1,D-1l

[Option ID = 11912]
Correct Answer :-
e A-I,B-1l,C-1lll,D-1IV

[Option ID = 11909]

11) Which of the following statements are correct?

A. Learning is a lifelong process

B. Learning is not possible without a teacher

C. Learning is enhanced through socially supported interactions.
D. Learning is enhanced through experiences

E. Learning is not possible without a school

Choose the correct answer from the options given below:
forgaiferRaa 3 3 blat A e A8t 3?7

A. 3iferr Sfigetazia acrer arcft gfepan &

B. =it forgres @ w91 siferemr v o1dl &

C. Jaret-3ef¥a sia:fgemsil A siffemnr 3 siftgfy aidt 3

D. sropral 3 sif2era 3 sifdrafy el 3

E. femcrr & 812 sifeer Hord ordl 3

forgatferRaa fraseul 3 21 &l 3a= goi ¢

[Question ID = 2979][Question Description = S1_qSNz_PG_EDU_Q51]
1. A, Cand D only/d@>aer A, C sfiz D

[Option ID = 11913]
2. A, B, Cand D only/dsae A, B, C aiiz D

[Option ID = 11914]
3. A, D and E only/daer A, D siiz E

[Option ID = 11915]
4. A, B, Cand E only/dact A, B, C alie E

[Option ID = 11916]
Correct Answer :-
e A, CandD only/@ae A, C 3iiz D

[Option ID = 11913]

12) Curricula ought to emphasize providing students with a deep understanding of the important ............ of a discipline and
how they are organized.

urgirRIt I fopdl fren-omzan @/<bt sseaygyf ------- 3fiz 3ol sRNSIor faf?r @ e 3 Renf2Ril @) a6t dlel Yglel @0l UR del Joll aIfde.

[Question ID = 2980][Question Description = S1_qSNz_PG_EDU_Q52]
1. Concepts/3idcustait

[Option ID = 11917]
2. Facts/aeit

[Option ID = 11918]



3. Contents/fawRazg

[Option ID = 11919]
4. Theories/Brgidl

[Option ID = 11920]

Correct Answer :-
e Concepts/3iamcustsit

[Option ID = 11917]

13) The following are essential considerations for curriculum development. Arrange them in a sequential order
A. Formulating intended learning outcomes

B. Suggesting methods to accomplish intended outcomes

C. Assessing of characteristics and needs of learners

D. Analysing issue/problem /need

E. Identifying the important and relevant content

Choose the correct answer from the options given below
urRicRIl fIpRT @ forsifeiRad Ascayul arull @I agaRr Jaafderd o3.

A. snsfiee sifeerar uftvnar ol ey ol

B. amsfiee ufvurmadl b1 quffy & fere fafril o1 Jema Son

C. sf2prrcpaisii & smaamdrsil iz fadudarsii @1 Jcaidot
D. ge1/ Iaz=/ smagdadsdn faeesuur

E. sscayyt siiz JRicra forerr-avq &l usdrer weln

offa fou o1 frpeul 9 2 1l 3= ot ¢

[Question ID = 2981][Question Description = S1_qSNz_PG_EDU_Q53]
1. A,B,C,D, E

[Option ID = 11921]
2. D,C,AE, B

[Option ID = 11922]
3. ACD,EB

[Option ID = 11923]
4. D,B,AEC

[Option ID = 11924]
Correct Answer :-
e AB,C,D,E

[Option ID = 11921]

14) Given below are two statements

Statement I: Tyler Model of curriculum is based on four main components: purposes, experiences, methods and
evaluation.

Statement II: Stake’s model of curriculum evaluation is based explicitly on the assumption that the concerns of the
stakeholders—those for whom the evaluation is done—should be paramount in determining the evaluation issues.

In light of the above statements, choose the most appropriate answer from the options given below

il Gl ool féu are 3 :

Dol - | : urgIert @1 cIseR dise arR FERI aedl WR snenfed 3: 3893, 3ed, [ARRIT ik Jciomal.

@l - || : uIgrerRIt Jeicrol I I AHiSel IUTC WU A A QLRI UR nenf¥d 3 b Jeiwot Adel Fgel @ forerzor I Rasarel- Bord e
Fcidol fep=n Sirdr 3- &I Ridme Jdiufy defl anfda.

SRt il @ sirclld I foFsifeiRaa fameul 3 3 AT IWRIFD IR ol :

[Question ID = 2982][Question Description = S1_qSNz_PG_EDU_Q54]

1. Both Statement | and Statement Il are correct/memet | 3iiz || ol 31 &

[Option ID = 11925]
2. Both Statement | and Statement Il are incorrect/aerar | iz || Gloll srcra &



[Option ID = 11926]
3. Statement | is correct but Statement Il is incorrect/wmet | 3@t 8 , foq @eret |l st 8 |

[Option ID = 11927]
4. Statement | is incorrect but Statement Il is correct/@emt | s &, fpog et |l & 8

[Option ID = 11928]
Correct Answer :-
e Both Statement | and Statement Il are correct/@ere | 3i || Slall 3 &

[Option ID = 11925]

15) Given below are two statements

Statement I: ADDIE model of instructional design is an acronym for the five phases: Approach, Design, Development,
Implementation, Evaluation.

Statement Il: Remembering, Understanding, Applying, Analysing, Evaluating, and Creating are core components of Bloom’s
taxonomy of learning objectives.

In light of the above statements, choose the most appropriate answer from the options given below

oflar <1 averet feu a1 3 ¢

Dol - | :3re1Senca® 3ifdraseu a1 ADDIE difse uia @rvil- oqia, f3sdel, Sacudic, sateildicorol, sdcyulcl- Bl YAHISR 3.
@erot - || ¢ FarRvr, sradier, sepyRiel, Reduur, Jedidol 3R Foldl 3ifeE 33901 @ sciga doiia2ur & el e 3.

IRt el d rcle 3 orefiRaa faweul 3 A Faiferes Sugw 30z ol -

[Question ID = 2983][Question Description = S1_qSNz_PG_EDU_Q55]

1. Both Statement | and Statement Il are correct/@emr | siiz || Gloll 2@t &

[Option ID = 11929]
2. Both Statement | and Statement Il are incorrect/erer | 32 || Sl srcta 3

[Option ID = 11930]
3. Statement | is correct but Statement Il is incorrect/wmermt | 3@t € , fboq el | s 8 |

[Option ID = 11931]
4. Statement | is incorrect but Statement Il is correct/@emr | s 8, fbog @erer | 38 &

[Option ID = 11932]
Correct Answer :-
e Both Statement | and Statement Il are correct/@erwer | 3iiz 1 ol 3t &

[Option ID = 11929]

16) Books, cinema, television, radio, newspapers and computers are termed as:
grae®il, Riown, ecfifesior, 333l sl wered ol el Sir 3 ©

[Question ID = 2984][Question Description = S1_qSNz_PG_EDU_Q56]
1. Traditional media/urufse sfifsen

[Option ID = 11933]
2. Instructional media/smSoncard aifSen

[Option ID = 11934]
3. Teaching media/foremvr #ifSer

[Option ID = 11935]
4. Social media/3Moret sfifeem

[Option ID = 11936]

Correct Answer :-
e Traditional media/uruf¥® sfifsen

[Option ID = 11933]

17) Following are the steps to curriculum change. Arrange them in a sequential order.
A. Re-examine the links between goals and course design

B. Gather data

C. Brainstorm the major issues and available information

D. Formulate, deliberate, and assess possible reform models

E. Analyse current teaching practices and learning goals

Choose the correct answer from the options given below



argrert uf¥ador @ forgeifeiRaa arvil @1 apar Joaaf¥ed 3.

A. agl 3iiz urgRraga sifraseu &bt gerdiign

B. s1er 3031 @l

C. 331 gl 3k Iuctetl ol UR ol

D. zisnfea Jear discl @I Ygul, Rarvl ik Jcaidol Dol

E. gafera foreror uzsuzrsii siiz sif?erer cgal o1 faecwur

il f3u a1 fraseul 9 A W& 3= goi ¢

[Question ID = 2985][Question Description = S1_qSNz_PG_EDU_Q57]
1. A,B,C,D, E

[Option ID = 11937]
2. B,C,D, E, A

[Option ID = 11938]
3. E,A,B,C, D

[Option ID = 11939]
4. D,E, A B, C

[Option ID = 11940]
Correct Answer :-
e A/B,C,D,E
[Option ID = 11937]

18) Which is NOT an example of curriculum change?

forgsiferRaa 3 3 wlel urgRrrl uf¥ador @1 3caRUI ol 37

[Question ID = 2986][Question Description = S1_qSNz_PG_EDU_Q58]
1. Introduction of a new degree program /v oe f3ff GogeT T yadet

[Option ID = 11941]
2. Introduction of a new subject/uve oo farrr @1 Yardor

[Option ID = 11942]
3. Change to or within a subject /fpft frwer 3 o 33 sftaz uf¥ader

[Option ID = 11943]
4. Upgrading the educational resource centre/digifores iMerol BG DI IooRIel

[Option ID = 11944]

Correct Answer :-

e |Introduction of a new degree program /v oiu f3aft Qiefer @1 Yacde
[Option ID = 11941]

19) Given below are two statements
Statement I: Comprehensive, content-rich curriculum is a common feature of academically high-performing countries.

Statement Il: The impact of high-quality curriculum can be significant and matters most to achievement in the lower level
of schooling.

In light of the above statements, choose the most appropriate answer from the options given below

ofid <Y werot fu arw 3 ¢

@Yol - | 1 e iR fage fu=r-avq arell urgRRIt SIpIeidia WU A 3T R forsurcel $IIdr drel UGl Bl HdATel faoivdr 3.
@ - |l : Ica spuraar arcll urgrert sscagul 3 Al 3 3R F@feitr D forac Far ur Iucfier 3 sAw! Aaifftie #ca 3.
SR> Dsll B 3rclid I fororfeiRaa fqmeul 3 24 Aaifere Uy 3= ol :

[Question ID = 2987][Question Description = S1_qSNz_PG_EDU_Q59]
1. Both Statement | and Statement Il are correct/erer | 3iiz |1 Qreit A& &

[Option ID = 11945]
2. Both Statement | and Statement Il are incorrect/@erer | 3iiz |l Sloil sTctd 3

[Option ID = 11946]
3. Statement | is correct but Statement Il is incorrect/aeret | 3@ 8 , fboq et |l et 2 |



[Option ID = 11947]
4. Statement | is incorrect but Statement Il is correct/@em | s &, fvog @erer | & &

[Option ID = 11948]
Correct Answer :-
e Both Statement | and Statement Il are correct/aerer | 3iiz || Sloil &t &

[Option ID = 11945]

20) Given below are two statements

Statement I:  Curriculum studies as a field of research deals with questions found at the point of intersection between an
area of activity or knowledge, and education, teaching, learning and socialisation.

Statement Il: Curriculum studies is understood as both a disciplinary and an interdisciplinary field of study
In light of the above statements, choose the most appropriate answer from the options given below

ofiar <Y averet feu s1e 3 ¢

Dol - | : U 3RSl i D PU A UIGRIRIT 31eRIol fip it feprIrapemu srerar sirel 8iq iz farervr, sre=nyet, 3ifeEr den JAAmH®UT & yfereadcol
fiig u= gra gyl A ddfee siar 3.

@erel - || ; UIGRITRIE 31eRRIeT DY 31¢RIol T faRIc 3iie siafdtRis &iq Sioll s ST 3.

SR el d sirclld I forsifeiRaa frmeul 3 A Faiffre Sug™ 0= Ioi :

[Question ID = 2988][Question Description = S1_qSNz_PG_EDU_Q60]

1. Both Statement | and Statement Il are correct/erat | 3iiz || Gloil 3@t &

[Option ID = 11949]
2. Both Statement | and Statement Il are incorrect/@erer | 3iiz || Sloil srcte 3

[Option ID = 11950]
3. Statement | is correct but Statement Il is incorrect/wem | &t 2, fvoq werer | st 2 |

[Option ID = 11951]
4. Statement | is incorrect but Statement Il is correct/@emer | s &, fipog e | 3@ 8

[Option ID = 11952]
Correct Answer :-
® Both Statement | and Statement Il are correct/@erer | 3i || Gloil & &

[Option ID = 11949]

21) Which study points to the fact that human brains treat each word as an image, which needs to be decoded before
being processed for meaning?

o1 3rezRIo 3 33 g &t 3z DA b Sirar & o5 wrera #ARase yia 9166 Bl U g @ U 3 3)auT wdr & BRI sref & fore yapfina s
Sitol @ gd Ridfera w2or &t smagaear usdt 3?

[Question ID = 2989][Question Description = S1_qSNz_PG_EDU_Q61]
1. Neurological Studies/ifepr idtft sreerRIor

[Option ID = 11953]
2. Psychological Studies/elidsmfors arerrer

[Option ID = 11954]
3. Physiological Studies/oRRfdRnca® 3ierRIol

[Option ID = 11955]
4. Communication Studies/3Quur 3reRRIe

[Option ID = 11956]
Correct Answer :-
e Neurological Studies/dfefr ddell sre=rRIor

[Option ID = 11953]

22) Presentation slides are most suitably meant to be-

Upieorel Fel1533I DI AAifed IURIT 3M9RT 3-

[Question ID = 2990][Question Description = S1_qSNz_PG_EDU_Q62]
1. A transcript /oo yferera

[Option ID = 11957]
2. A visual aid/vw 91 JBRIB AWEL



[Option ID = 11958]
3. A learning support/ud 3ifieret IR

[Option ID = 11959]
4. A teaching support /v foreir JarRIAar

[Option ID = 11960]
Correct Answer :-
® A transcript /u® yferera
[Option ID = 11957]

23) According to Kolb (1984), match the learning style with their respective characteristics as given in List | and List Il

List | List Il

Learning Style Characteristics

IA. Accommodators I. Real life experience and discussion
B. Converger Il. Theories and facts

C. Diverger Ill. Hands-on learning

D. Assimilator IV. Hands-on learning and theory

Choose the correct answer from the options given below:

et -1 3 & o1 iRt ARE B 3 -1 3 Rw o1e afdcigvil 3 wica (1984) & sigrar Fakia B :

Rrelt -1 (siffemr 9ieh) Rxedl -1l (sifdretsrorn)

A. FARISTD |. Shaetepm@ 3iiz aat

B. sfrRunci® Il. Brgia siiz aea

C. RIrst lll. geagt svasia sifeerer

D. J3isis IV. yeaer sragiu siféem siie Rrgia

il fou a1 faseul 3 A A IR gfom ©

[Question ID = 2991][Question Description = S1_qSNz_PG_EDU_Q63]
1. A-IV,B-1l,C-1,D-1I

[Option ID = 11961]
2. A-1ILB-1,C-1V,D-Il

[Option ID = 11962]
3. A-I,B-lIl,C-1l,D-IV

[Option ID = 11963]
4. A-1L,B-IV,C-1,D-1I

[Option ID = 11964]

Correct Answer :-
® A-IV,B-1Il,C-1,D-1I

[Option ID = 11961]

24) An Educational technologist is concerned with :

A. Designing instruction

B. Producing instructional materials

C. Managing instructional computing services or learning resources collections
D. Applying theories of cognition and research to utilize technology for the benefit of the learner
Choose the correct answer from the options given below:

g1t Qenfrhifee o1 Jder 8ar 3 :

A. siftroeu refger A

B. 3ISoncads ARES TRIR a0l A

C. se9nca® uf¥meiol Aarsil @ Yol el JIfRPERI FHATE6! Idbeloll A

D. sif¢errmat @ crsmel Qrenf3rdhl grier & fore srefRians iR siférsier Rigial @ siogRIeT A
il f3u s1e fyaseul 9 A W& 3= goi ¢

[Question ID = 2992][Question Description = S1_qSNz_PG_EDU_Qé64]
1. A, Band C only/daet A, B siiz C

[Option ID = 11965]
2. B, Cand D only/dae B, C sz D

[Option ID = 11966]



3. A, Cand D only/a@ae A, C 3z D

[Option ID = 11967]
4. A, B, CandD all/daa A, B, C 3z D

[Option ID = 11968]
Correct Answer :-
® A, B and C only/dac A, B siz C

[Option ID = 11965]

25) Which of the following is not a platform for MOOCs?
forsaiferRaa 3 A wiet MOOCs @I v wiewidH ordl 37

[Question ID = 2993][Question Description = S1_qSNz_PG_EDU_Q65]
1. SWAYAM/Za=i

[Option ID = 11969]
2. SWAYAM-PRABHA/>ari-gar

[Option ID = 11970]
3. edX/edX

[Option ID = 11971]
4. Blackboard/sciodrs

[Option ID = 11972]
Correct Answer :-
o SWAYAM/¥ari

[Option ID = 11969]

26) Which of the following is not a component of 'System Approach'?
forgotferRad 3 A wlol 'R vyia’ @I U acd ol 37

[Question ID = 2994][Question Description = S1_qSNz_PG_EDU_Q66]

1. Feedback/®lsd®

[Option ID = 11974]
2. Web Network/dq sfcaas

[Option ID = 11973]
3. Input/seige

[Option ID = 11975]
4. Process/qrRrx

[Option ID = 11976]
Correct Answer :-
e Web Network/dd olcas
[Option ID = 11973]

27) Asynchronous Learning approach does not include :
3RTEDIfcId 3ifeI Sueta # forsfcilRaa 3 A o= onfirer o1dt alar 87

[Question ID = 2995][Question Description = S1_qSNz_PG_EDU_Q67]
1. Communication/3iguur

[Option ID = 11977]
2. Collaboration/zmr=terst

[Option ID = 11978]
3. Content Hosting/fRrRI-azq sirRiisior

[Option ID = 11979]
4. Mathetics/aiféem1 fstrer (ddfedr)

[Option ID = 11980]
Correct Answer :-
e Communication/iguor

[Option ID = 11977]

28) An instructional system that teachers can use to develop lesson plans which integrate the use of technology and media
is known as :

Tz 3Mol¢olHD Yullcll 1ot Yiler forgrml grR1 Qienf3rbl sz i3 @ @ifepa yrieT arcll ure isien famRa m2o1 3 s st 21mar 3 :



[Question ID = 2996][Question Description = S1_qSNz_PG_EDU_Q68]
1. Dick and Carey Model/ 3w vs &3 difsa

[Option ID = 11983]
2. Synchronous Learning Model/3s@iferd siftem ifset

[Option ID = 11984]
3. ADDIE Model/ADDIE aiser

[Option ID = 11981]
4. ASSURE Model/ASSURE aiscr

[Option ID = 11982]
Correct Answer :-
o ADDIE Model/ADDIE #iset

[Option ID = 11981]

29) BigBlueButton is :
feeTegtacat 3 :

[Question ID = 2997][Question Description = S1_qSNz_PG_EDU_Q69]
1. Web Conferencing System & Synchronous Learning Tool/dd i@ Risrguiefl sii? JAewIfeid SIfeRHI 3umu1

[Option ID = 11985]
2. Web Conferencing System & Asynchronous Learning Tool/ds wigRistguictt 3z RIG®IRID SRR 3UB0T

[Option ID = 11986]
3. Learning Management System/siféeme1 ydtror guirett

[Option ID = 11987]
4. Recording & Editing Software Tool/RaifSsr iz 2iurcor Afucd? Judbur

[Option ID = 11988]

Correct Answer :-

o Web Conferencing System & Synchronous Learning Tool/da @i Ristyunch iz Jamifera siféemr 3uaur
[Option ID = 11985]

30) Podcast and Vodcast are useful for students with :
A. Dyslexia

B. Visual impairment with severe mental impairment
C. Severe mental impairment

D. Sound health

Choose the correct answer from the options given below:
dismrzc iz disorc o faenffat & fore sueish 3-

A. gosrdme A S

B. zfScanfera siiz sishiz seiRias ovrar A sff¥ta

C. sz aIreIlR¥Tes Fovrar A IR

D. zaza

il f3u a1e fyaseul 9 A W& 3= goi ¢

[Question ID = 2998][Question Description = S1_qSNz_PG_EDU_Q70]
1. Aand B only/@act A siiz B

[Option ID = 11989]
2. Aand C only/daer A siiz C

[Option ID = 11990]
3. Aand D only/@act A siiz D

[Option ID = 11991]
4. A, Cand D only/daer A, C 3z D

[Option ID = 11992]
Correct Answer :-
e Aand B only/d@act A sk B
[Option ID = 11989]

31) Which of the following factors resist Social Change?

A. Cultural Inertia



B. Fear of New Things

C. Scientific Invention

D. Physical Environment

E. Degree of Isolation

Choose the correct answer from the options given below:
forgatferRaa 3 3 Blat A PR® ARNRIE uf¥ads o1 gfeRler w2 37
A. siivpfie stsar

B. ordler =isil @r srx

C. dsnfore snfacwr

D. siiferes uf¥der

E. geramvr @1 ¥R

il 3w a1 fyaseul 3 A W& 3= goi ¢

[Question ID = 2999][Question Description = S1_qSNz_PG_EDU_Q71]
1. A, Band C only/dact A, B siiz C

[Option ID = 11993]
2. A, B and D only/daer A, B 3iiz D

[Option ID = 11994]
3. A,BandE only/@ac A, B3R E

[Option ID = 11995]
4. A, Cand E only/dae A, C 3iz E

[Option ID = 11996]
Correct Answer :-
® A, B and C only/dac A, B siiz C

[Option ID = 11993]

32) Match the Book given in the List | with their respective Author given in the List Il

List | List Il
Book Author
A. Karma Yoga I. M. K. Gandhi
B. Women and Evil Il. Sri Aurobindo
C. Ethical Religion Ill. Swami Vivekananda
D. Synthesis of Yoga IV. Nel Noddings
V. J. Krishnamurthy

Choose the correct answer from the options given below:

et -1 bt grae! ol = -1l D crawl A gaifera dHifse ¢

Rret -1 et -1l
gra® RAaD
A. od o1 |. u31. . el
B. didlor us Sfarer Il. oft srfdieY
C. uRrper Rferster lll. Fafl fdwmsic
D. RidfRr sifw A0 IV. aret oilféeat
V. 31 geumagfel

oiil f¢u aru famedl 9 A A8 3R ot :

[Question ID = 3000][Question Description = S1_qSNz_PG_EDU_Q72]
1. A-NI,B-1IV,C-1,D-1

[Option ID = 11997]
2. A-1,B-1I,C-1,D-1IV

[Option ID = 11998]
3. A-1LB-IV,C-V,D-Il

[Option ID = 11999]
4. A-1,B-1I,C-1V,D-V

[Option ID = 12000]
Correct Answer :-
e A-IIlLB-IV,C-1,D-1l
[Option ID = 11997]



33) "Power as the central feature of society rather than thinking of society as held together by collective agreement
concerning a cohesive set of cultural standards as functionalists do” The statement indicates towards which of the following
theories?

"HAIRFDITD AGIDI D TD AP AHTRI D A 3 YDRIAK BRI PR AN DI ARIRBD AsAl A 3MEg A6 3, IADI SPT6 Ifth DI TS DI
Docr fa9rudr HArelelr”’, AE werel fowsifeiRaa 3 2 v Rigia &t 3ik R war 3?7

[Question ID = 3001][Question Description = S1_qSNz_PG_EDU_Q73]
1. Social Movement Theory/3msufSip Jidctor Rrgia

[Option ID = 12001]
2. Conflict Theory/3iad Brgia

[Option ID = 12002]
3. New Social Movement Theory/srdtor Jmenfers Jidctor Brgia

[Option ID = 12003]
4. Political Process Theory/3msifoifere yfepen Rrgia

[Option ID = 12004]
Correct Answer :-
e Social Movement Theory/3menfSies idcter Brgia

[Option ID = 12001]

34) Match the School of Philosophy given in List | with the respective Metaphysics given in List Il :

List | List Il
h f Phi h
School of Philosophy Metaphysics
A. Idealism I. The world is "characterised throughout by process and change”
B. Realism Il. The cosmos is made up of number of entities having various relations to one another and various
’ qualities
C. Naturalism lll. A surrounding world which is spiritual
D. Pragmatism IV. Nature in terms of process rather than either substance or structure

Choose the correct answer from the options given below:

It -1 3 & orf gofor oransii Y g -l 3 & o1 aca-sfenia A Fafera Hife :

et -1 e -1l
Gofol omat [dea-3fiari=zm
A- |. Jar & "yapa iz af¥ader aaa fadrwar & 3
BiIGofarg
B. Il. §B1vs sl dddi A f3eT B2 Joll 3 RBIeld b g} D AT eID
RIenefare  RAer 3iR 3fold IYVI 3.
C.
lll. v gferaeh AR snenfeas aiar 3
gpfera
D.

crasrRarg  |IV. ucrel A1 et & SSIRT gagat @ ocst 3 gapfer

off<l feu ore fpedl 3 A A8 3R gfore :

[Question ID = 3002][Question Description = S1_qSNz_PG_EDU_Q74]
1. A-Nl,B-1,C-1V,D-1

[Option ID = 12005]
2. A-1,B-1I,C-1,D-IV

[Option ID = 12006]
3. A-1L,B-1,C-1I,D-IV

[Option ID = 12007]
4. A-1,B-1l,C-1V,D-1I

[Option ID = 12008]

Correct Answer :-
e A-IIl,B-Il,C-1IV,D-1I

[Option ID = 12005]

35) Arrange the following in order according to the Eight Limbs of Yoga :
A. Niyama

B. Asana

C. Dhyan

D. Pranayama



E. Pratyahara

Choose the correct answer from the options given below
3reciaT AT @ RIR fowoferRaa o1 31t oo o= 3 :

A. forrar

B. am=io1

C. eamer

D. gomrme

E. gaer

i) feu aru faeal 3 A Al Ia= gol ¢

[Question ID = 3003][Question Description = S1_qSNz_PG_EDU_Q75]
1. A,D,(C,B, E

[Option ID = 12009]
2. A,B,D,EC

[Option ID = 12010]
3. AD,B,EC

[Option ID = 12011]
4. C,E,B,A D

[Option ID = 12012]
Correct Answer :-
e ADC B, E
[Option ID = 12009]

36) 'Mind is merely a function of the brain, an overtone accompanying bodily activity. It is an onlooker at events, never
influencing them' belongs to :

"#ol AP BT Bad v Yol 3, a6 Ariiye fpzmaar il @1 ua siferdret 3. a6 Tcotsil @1 gofds alar 3, 3o o8t yenfad ol wzan’ u1s b
JHeifera 8?7
[Question ID = 3004][Question Description = S1_qSNz_PG_EDU_Q76]

1. Parallelism/m@ic=arg

[Option ID = 12013]
2. Interactionism/sid:fegzimarg

[Option ID = 12014]
3. Epiphenomenalism/3ulcurgarg

[Option ID = 12015]
4. Absolutism/gerars

[Option ID = 12016]

Correct Answer :-

o Parallelism/¥@icazarg

[Option ID = 12013]

37) The Preamble of our Indian Constitution has a sequence of :
A. Justice

B. Equity

C. Equality

D. Fraternity

E. Liberty

Choose the correct answer from the options given below

AR MRA B Jfdener 3 fororfeRaa o1 o 3 :

A. s

oif<l feu are faedl 3 2 A3l = ol ¢



[Question ID = 3005][Question Description = S1_qSNz_PG_EDU_Q77]
1. AJE,C, D

[Option ID = 12017]
2. A B,E D

[Option ID = 12018]
3.A,C,D,E

[Option ID = 12019]
4. AE, D, C

[Option ID = 12020]
Correct Answer :-
e AJE,C,D

[Option ID = 12017]

38) Stratification in society is based on-
TSt & Fasiazor senfya iar 3-

[Question ID = 3006][Question Description = S1_qSNz_PG_EDU_Q78]
1. Power, Property and Prestige/9fep, 3iufer sz yfersor a2

[Option ID = 12021]
2. Culture, Caste and Class/ziza, sifer iz aof uz

[Option ID = 12022]
3. Education, Earning and Empowerment/f3rgir, aier 3li Jorfebas2ur uz

[Option ID = 12023]
4. Motivation, Mobility and Material possession/gzut, siferoftcrar aliz sifere 2ufer uz

[Option ID = 12024]
Correct Answer :-
e Power, Property and Prestige/oiftp, Jufer sliz yferest w2

[Option ID = 12021]

39) “What we want is progress, development, realization. No theories ever made human being higher. No amount of books
can help us to become purer. The only power is in realization and that lies in ourselves and comes from thinking. Let Human
Being Think!” is a statement of :

"&a1 ypIfer, faerRa 3R siopyfer arad 3. fopedl oft Rigia of el @l Icaar o1l doirn 3. fpdell 3ft yzad uedl A & 3R siferep ufde o1él got
AP, Tb AL 91t 3topyfer 3 Bl 3 3z as Fari sdl forfde 3 3ii Ridtor A gra 3kcl 3. A= b1 Rider 2ol Sl A6 fpamT Dot 3?7

[Question ID = 3007][Question Description = S1_qSNz_PG_EDU_Q79]
1. J. Krishnamurthy /3l gyeomafef

[Option ID = 12025]
2. Rabindranath Tagore/3fdogatrer oiz

[Option ID = 12026]
3. Mahatma Gandhi /@1 sifeft

[Option ID = 12027]
4. Swami Vivekananda/zamwft fdoroic

[Option ID = 12028]
Correct Answer :-
® J. Krishnamurthy/3I. ayomagfef
[Option ID = 12025]

40) Which of the following statements is not correct in case of 'Wollstonecraft'?

‘dieR<lorauc’ @ Ader I foefcRaa werel 3 3 Dol AT Dol At ol 3?7

[Question ID = 3008][Question Description = S1_qSNz_PG_EDU_Q80]

1. Wollstonecraft was an English writer, philosopher and advocate of Women's Rights. /dlcieclorpuc b 3iSjsl e, sigffors 3iie aifdet sifirpr! & TRIor 2.

[Option ID = 12029]
2. Wollstonecraft is regarded as one of the founding feminist philosophers. /dicicloiauc @I Rféd sitard! grofform! 3 3 va #on Sidr 3.

[Option ID = 12030]
3. Wollstonecraft's first sole-authored book is 'Caring: A Feminine Approach to Ethics and Moral Education’/diceclorapue &bl usell srdel-2ferd gas ‘dafdsr: a1
Bforel vyl ¢ BRI TS el Bl 8.

[Option ID = 12031]
4. The majority of Wollstonecraft's early productions are about education. /dicreclorarue &t siféraior sm3féras Jdoms forer ideft 3.

[Option ID = 12032]

Correct Answer :-



e Wollstonecraft was an English writer, philosopher and advocate of Women's Rights. /dicrcloiayue v 3i6)l cRd®, crofford 3l afdet SifdRl & TIdR 9.

[Option ID = 12029]

41) Education was brought into the Concurrent list by

forgaiferfRaa 3t 31 Road gt A1 @1 wrerad It 3 i srm?

[Question ID = 3009][Question Description = S1_qSNz_PG_EDU_Q81]
1. 415t Amendment of the Constitution/41ar 3ifderror ioieror

[Option ID = 12033]
2. 42" Amendment of the Constitution/42ai 3ifderer Jfoiterot

[Option ID = 12034]
3. 4374 Amendment of the Constitution/43ai 3ifderer Jioferor

[Option ID = 12035]
4. 44t Amendment of the Constitution/44di 2ifermor 2ioderor

[Option ID = 12036]
Correct Answer :-
e 415t Amendment of the Constitution/41ai 2ifderer foiteror

[Option ID = 12033]

42) A group of institutions had invested Rs 200 Cr in the year 2010 to improve the Learning Outcomes of their students. In
order to know whether the investment has yielded the desired results, the group should perform :

fep21l Jerret 31 of ad 2010 31 sruol faenf2Ril @ sif2ere yferwel 3 Jer @ e 200 os SRl @1 forar e =18 Sielol @ ferw b a=n
foraror @ qifeser oretlsl yre gu 3, A3xe ol forfdalRaa 3 A o= @2on wifdn?

[Question ID = 3010][Question Description = S1_qSNz_PG_EDU_Q82]
1. Cost benefit Analysis/ eI cmer freawor

[Option ID = 12037]
2. Tangible benefit Analysis/agd emar feeauur

[Option ID = 12038]
3. Intangible benefit Analysis/ 3wy cmrer faecstor

[Option ID = 12039]
4. Cost effectiveness Analysis/cmra ganfapar fecwor

[Option ID = 12040]
Correct Answer :-
e Cost benefit Analysis/ciera st fecwor

[Option ID = 12037]

43) Which of the following curriculums is more susceptible to political influence?
forgotferfR3ae 3 3 ol 2 urgererIl Jrsmolifers gama A siferes genfaa aidr 3?7

[Question ID = 3011][Question Description = S1_qSNz_PG_EDU_Q83]
1. Higher Education curriculum/3caaz forgn urcercrit

[Option ID = 12041]
2. School Education curriculum/femerf} foremr urcerarit

[Option ID = 12042]
3. Vocational Education curriculum/ <R forsn urcercrit

[Option ID = 12043]
4. Teacher Education curriculum/srezmae frgior urcRrerRIt

[Option ID = 12044]
Correct Answer :-
e Higher Education curriculum/3caaz f91en urgererit

[Option ID = 12041]

44) The primary belief of Existentialism is :
3Rdcaarc @ Je R 3 :

[Question ID = 3012][Question Description = S1_qSNz_PG_EDU_Q84]
1. Essence precedes Existence/dara sif¥aca 31 uacl 3imer &

[Option ID = 12045]
2. Action precedes Intuition/fégar srea:92om 3 usct aredt &

[Option ID = 12046]



3. Intuition precedes Action/smor:gzun fopir 3 uact sircdt &

[Option ID = 12047]
4. Existence precedes Essence/sif¥dca acd 3 ugdl 3iier 3

[Option ID = 12048]
Correct Answer :-
e Essence precedes Existence/dca sif¥daca 3 usel 3ier 3

[Option ID = 12045]

45) The concept of Latent Learning was advocated by :
3Irep 3ifeera & sraemsvn @ ugt 3 fopor aas f3ar?

[Question ID = 3013][Question Description = S1_qSNz_PG_EDU_Q85]
1. Piaget/Rmmt

[Option ID = 12049]
2. Tolman/<retdior

[Option ID = 12050]
3. Hull/aa

[Option ID = 12051]
4. Bloom/scpgr

[Option ID = 12052]
Correct Answer :-
® Piaget/firmst
[Option ID = 12049]

46) A history teacher arranged a visit of students to local historical monuments, while teaching Ancient Indian architecture.
This is an example of :

Yrefiol MIReART FemueT uglel @ Sikiel U sfisra fArgram of faenfefi @ ferg remofier VeeIRTe saRdl o5 yEIvT &I wraren &l. A6 GBI 3 :

[Question ID = 3014][Question Description = S1_qSNz_PG_EDU_Q86]
1. Activity based teaching/fgzmaema smenfye forgior w1

[Option ID = 12053]
2. Experiential teaching/smopaifda fSrgtur w1

[Option ID = 12054]
3. Blended teaching/ g forgtor wr

[Option ID = 12055]
4. Project based teaching/ufitsion smenfd forgmr awr

[Option ID = 12056]

Correct Answer :-

e Activity based teaching/fegemasema smenf¥ fSrgor a1
[Option ID = 12053]

47) The family of models which is more concerned with intellectual skills and acquisition of knowledge by the students :

g gfereu uf¥ar Sil fenfie o difge i iR sielsiol A it Hdfta 3 :

[Question ID = 3015][Question Description = S1_qSNz_PG_EDU_Q87]
1. Behaviour modification Family/=aer uf¥ader ufsar

[Option ID = 12057]
2. Social interaction Family/mnfsis sid:fogem ufsar

[Option ID = 12058]
3. Information processing Family/3ceir yapst uf¥ar

[Option ID = 12059]
4. Personal Family/duftpa uf¥are

[Option ID = 12060]

Correct Answer :-

e Behaviour modification Family/=rasr uf¥acder uf¥ar
[Option ID = 12057]

48) The major contributor to the theory of communicative reason and communicative rationality was :

AYuUIIcAD a@ 1R AYuvncas aifdemdr Rigia 3 ygra dpcermdt 3 :



[Question ID = 3016][Question Description = S1_qSNz_PG_EDU_Q88]
1. Habermas/ae=amt

[Option ID = 12061]
2. Allan Luke/vcmor e

[Option ID = 12062]
3. Deng -Xiao- Ping/dsr fS13uail ftier

[Option ID = 12063]
4. Schulman/gjcdior

[Option ID = 12064]

Correct Answer :-
® Habermas/aaamrt

[Option ID = 12061]

49) In a Socialist economy, the aims of education, curricula and methods of teaching are determined by
A. welfare of the society

B. market forces

C. democratic ideals, secularism, modernisation

D. social reforms and national development

E. aspiration of private stakeholders

Choose the correct answer from the options given below:

o=t JrersIarc srefcaazen 3 forgm @ 2RI, UrgererIt 3iiR forgrur faf2rit forerifea aictt 3

A. JATST DT A

B. iR &t erfepaai A

C. cliwalfoqe smeelf, epiforusidr, smefsrblavr A
D. sl Femrl ik IR Rt A

E. forslt Rasmal &t smapismaii A

il fou s1e fraseul 9 2 & Ia= goi ¢

[Question ID = 3017][Question Description = S1_qSNz_PG_EDU_Q89]
1. A, B, Donly/

@act A, B, D

[Option ID = 12065]
2. A, C,Donly/aact A, C, D

[Option ID = 12066]
3. B,C,Eonly/®aa B, C, E

[Option ID = 12067]
4. C,D, Eonly/@aa C, D, E

[Option ID = 12068]

Correct Answer :-
e A, B, Donly/

Pac A, B, D

[Option ID = 12065]

50) Recommendations by the Secondary Education Commission (1952-53) regarding teachers training were
A. Two types of institutions for teacher training

B. Training colleges should conduct research work

C. Teacher Training colleges should charge fee from the students

D. Residential facilities for teacher trainees

E. Admission for masters degree in education for graduates in any discipline

Choose the correct answer from the options given below:



sremaepl & aR 3 reAfdies A1gn smrRNeT (1952-53) &bt Rrwifeor off

A. g gforgr @ fere Sl YR @ el

B. gfdrgivr sraifemcril w1 ofter BRI Aanferd wmol aifdu.

C. sieamues Yforeivr FsIfdencril o1 fenff ur 9pca genfya awon aifde
D. srermue gfdreggsii @ fere smarikn Jfaend

E. o3t oft fororr & Fommawl & ferw fdrgrut 3 ForramraR f39ft @ fere ametiaser
il féu a1e fyaseul 9 2 W& 3a= goi ¢

[Question ID = 3018][Question Description = S1_qSNz_PG_EDU_Q90]
1. A, B, Donly/dac A, B, D

[Option ID = 12069]
2. B, C, Donly/aaa B, C, D

[Option ID = 12070]
3. A, C,Eonly/adac A, C, E

[Option ID = 12071]
4. A, B, Conly/dae A, B, C

[Option ID = 12072]

Correct Answer :-
® A, B, Donly/dact A, B, D

[Option ID = 12069]

51) The courses hosted on SWAYAM platform have
A. video lectures

B. self-assessment tests

C. credit transfer for all learners

D. offline discussion forums

E. exclusively prepared reading material

Choose the correct answer from the options given below:
TRl wiewis Uz Iucteer urgeragl A aXar 3

A. faf31 sarsmet

B. ¥a-gciapet udlgor

C. st sif2ermaisil @ fere @ fSesiazor

D. sifwetrsol @i i

E. 3rolo U A TR &Y 315 use ABEH

il f3u a1 fyaseul 9 A W& 3= goi ¢

[Question ID = 3019][Question Description = S1_qSNz_PG_EDU_Q91]
1. A, B, Donly/adac A, B, D

[Option ID = 12073]
2. B, C, Donly/aaea B, C, D

[Option ID = 12074]
3. B, C, Eonly/@aa B, C, E

[Option ID = 12075]
4. A, B, E only/adact A, B, E

[Option ID = 12076]

Correct Answer :-
® A, B, Donly/dact A, B, D

[Option ID = 12073]

52) The objectives of induction training of teachers are :-

A. to acquaint them with general & specific duties and responsibilities.

B. to acquaint teachers with school organisation and its policies

C. to develop skills and attitudes responsive to emerging national development goals and programmes

D. to inform them about equipments, materials and facilities available in the institution



E. to develop teaching skills and impart content knowledge

Choose the correct answer from the options given below:

forgrpt @ yacier gfdreror @1 329 3 :

A. Soro! ArAre vd fafdrse wdde ik IaeciRica @1 ufRa wwen

B. forsrepl @ frenerii ¥is1o6l wd 3BT SferIl A uffRra avon

C. ordlol el RrprRT e1eil iz erRiapd! @ gfer sieifdprmolicr wloredl ik RrasRI @I iRt
D. Sorepl iz 3 Iucteel IumvT , ARRY R Ffdensii bl Jacyerer el

E. forgror wioret 3iiR faerI-avq @I <161 Ygiol B ol

il féu a1e fyaseul 9 2 W& 3a= goi ¢

[Question ID = 3020][Question Description = S1_qSNz_PG_EDU_Q92]
1. A, B,Conly/dac A, B 3z C

[Option ID = 12077]
2. A, B, D only/dact A, B 3iiz D

[Option ID = 12078]
3. B, C, Eonly/dac B, C az E

[Option ID = 12079]
4. C, D, Eonly/dac C, D iz E

[Option ID = 12080]
Correct Answer :-
e A B,Conly/daa A, Bair C
[Option ID = 12077]

53) Match List | with List Il

List | List Il

Education Commission Chairpersons

A. University Education Commission|l. Dr. D. S. Kothari

B. National Knowledge Commission |[ll. Sam Pitroda

C. Education Commission lll. Dr. L. Mudaliyar

D. Secondary Education Commission|lV. Acharya Ram Murthy
’V. Dr. Radhakrishnan

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

et - et -1
o181 3RNBT 3re=IST
A. feraféemcrr forgn srRieT I. 3t 3 vt st
B. Il Sirel 3RIeT 1. 331 Riqier
C. for81 3MRIeT Ill. St war goferrR
IV. sirart 2rer gfet
D. smeafdies 131811 SIRIST .
V. 3i Iemapevrer

il 3w o1 el 3 A At IR gfom :

[Question ID = 3021][Question Description = S1_qSNz_PG_EDU_Q93]
1. A-V,B-1lll,C-1l,D-1

[Option ID = 12081]
2. A-V,B-1l,C-1,D-1I

[Option ID = 12082]
3. A-1,B-1I,C-1,D-V

[Option ID = 12083]
4. A-1IL,B-1V,C-1,D-1I

[Option ID = 12084]

Correct Answer :-



¢ A-V,B-Ill,C-1l,D-1
[Option ID = 12081]

54) Match List | with List Il

List | List Il

Training types IMajor Objective

IA.Pre-service teacher training |l. acquaint new entrants with duty and reponsibility
B. Practice teaching Il. upgradation of knowledge

C. Induction training lil. to develop teaching skills

D. In-service teacher training |[IV. understanding aims &objectives of education

Choose the correct answer from the options given below:

I -1 @ R -1l A Fgafera Hifsre ¢

opet -1 Rreh -1l

GfOI8IUT BT YR [T IT9A

A 2ragd forgrs || oo 3iiR ITReIRIca @ AT old YJd9Id dI USRI A1

g forgrot SITeIPIST gId d3oll

B. srearreT forgmor  |Il. Sirer b1 SooRIer

C. gaciat gforgror  |lll. foreror wbiorer o1 faprRT
D. Jara fdrgra

IV. forgm a5 ¢3R1 wd 3Z9a &I AT

gfdrgior
oifa feu aru fasedl 9 A 8 3R gforu :

[Question ID = 3022][Question Description = S1_qSNz_PG_EDU_Q94]
1. A-Il,B-1,C-1ll,D-IV

[Option ID = 12085]
2. A-1,B-1V,C-1,D-1ll

[Option ID = 12086]
3. A-lILB-IV,C-1,D-1I

[Option ID = 12087]
4. A-IV,B-1l,C-1,D-1I

[Option ID = 12088]

Correct Answer :-
e A-Il,B-1,C-1ll,D-1IV

[Option ID = 12085]

55) Arrange the following in chronological order of being established :
A. NCTE

B. NCERT

C. UGC

D. BHU

E. NIEPA

Choose the correct answer from the options given below

forgotferRaa @Y o1l Femusll & BIAGIHGRIR JRaalyed bHifse :
A M as

B.waa M $amr &

C. g sit 2t

D.dtwayg

E.carang §diu

il 3w a1 fyaseul o A W& 3= goi ¢

[Question ID = 3023][Question Description = S1_qSNz_PG_EDU_Q95]
1. D,C,B,E, A

[Option ID = 12091]
2. C,A B, ED



[Option ID = 12092]
3.D,B,C, A E

[Option ID = 12089]
4. B,C,AD,E

[Option ID = 12090]
Correct Answer :-
e D,B,C,AE
[Option ID = 12089]

56) The order of activity in advance organiser model of teaching is :
A. presentation of learning task/material

B. strengthening cognitive organisation

C. presentation of advance organiser

D. clarification of students’ problems

Choose the correct answer from the options given below
forgror & 3ifSper IRNSI difsa 3 sifefafer o1 o 3: -

A. f?err orf / sffera ARel B grgf

B. JAsIelicaA® JHsIo0l DI JEGIDBUT

C. aaf3fa forgror ARl &I gegfer

D. s1qi &1 J3=zA1sil BI FusEia0T
il fou s1e fraseul 9 A W& 3a= goi ¢

[Question ID = 3024][Question Description = S1_qSNz_PG_EDU_Q96]
1. A,B, D, C

[Option ID = 12093]
2. C,A,B,D

[Option ID = 12096]
3. C,B,A, D

[Option ID = 12094]
4. B, A, C,D

[Option ID = 12095]
Correct Answer :-
e A/B, D,C

[Option ID = 12093]

57) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The teacher must be at the centre of fundamental reforms in the education system.
Reason R: The teachers shape the next generation of nations' economy.

In light of the above statements, choose the most appropriate answer from the options given below

ofla Sl Derel iR s 3w B siftrperet (A) 3R gIR @I ads (R) @ar SR 3

sifdrperet (A) @ rgr @ 318 yurredl 3 gemga ARl @ d>g 3 Slell anfze

a® (R) : 181 2reg B sreferazen &t sercht did) @ sioR 3a 3

SRft Bl @ 3irclie 3 foatifera el 3 A 8 3= ol :

[Question ID = 3025][Question Description = S1_qSNz_PG_EDU_Q97]

1. Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) ciail 38t 3 32 (R), (A) &t 3 wen 8

[Option ID = 12097]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) siiz (R) @il & 8 uzoq (R), (A) ot A&l wmen oidl 3

[Option ID = 12098]
3. Ais correct but R is not correct/(A) 3t & wog (R) &t ot &

[Option ID = 12099]
4. Ais not correct but R is correct/(A) 3t o8t 8 udog (R) & &

[Option ID = 12100]
Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) sfiz (R) gleil 3@t 8 3k (R), (A) &t 38 R 8

[Option ID = 12097]



58) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The effectiveness of an in-service training programme depends on the appropriateness of the content,
relevant to the objectives of training and has the potential to meet the training needs of the target group.

Reason R: The mismatch between objectives, content and needs of the training leads to wastage of resources.

In light of the above statements, choose the correct answer from the options given below

il 3t werel Ru 31w 3@ uep Bt sifdrperet (A) 3iiR gIR @Y ads (R) @ar srRn 3

sifdrperat (A) @ Aara ygfdrerr wriaer & gsimaeiictar Jmepft b Aaéwar uz fonkz wxdl 3, st yfdrgmr & 3ol & fere yrifsies 2 siiz aga
A3g b1 gfdigrur smaerersii B Y ol Bl 1aer acdl 3

a® (R) : 3294 , AREH 3R gfdrer &t smaadmdar o5 i et of dot A HAtewil Gf galdt Bt Bk 3

IRt el @ 3l 3 foratifesa faaeul 3 A 8 a2 ol ¢

[Question ID = 3026][Question Description = S1_qSNz_PG_EDU_Q98]

1. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) giail 3@t 3 32 (R), (A) &t 3 =men 8

[Option ID = 12101]
2. Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) g6l 2@t & weeg (R), (A) 6l et =i oiet 8

[Option ID = 12102]
3. Ais true but R is false/(A) 3@t 8 usog (R) &l o8l &

[Option ID = 12103]
4. Ais false but R is true/(A) 3@ o8t 3 woqg (R) 38 &

[Option ID = 12104]

Correct Answer :-

e Both A and R are true and R is the correct explanation of A/(A) siiz (R) glail 3@t & 3z (R), (A) 6l & e 8
[Option ID = 12101]

59) Given below are two statements

Statement I: The aim of education in ancient India was not just the acquisition of knowledge as preparation for life in this
world, or life beyond schooling, but for the complete realisation of the self.

Statement Il: The aim of education should be cognitive development equipped with 21st century skills only.

In light of the above statements, choose the most appropriate answer from the options given below

il Sl Dol fRu sre 3 ¢

@oel - | :  grefiol siRe 3 181 DI 329 3 SPIA 3 Shidel I TRIRE & U 3 AT feemer A W Siiaet 3 dae Silel Y oiél T, it Fa=i
@ Aquf scarEIer @ fere e

@l - || :  forem @1 3g9a dad 21 df A<t @ pioret A Uiyl Asiolicad PRI sloll Tz

IWRfTe Decil B el # fororfciRaa faweul 3 ¥ Aaifere sug 0= gfom:

[Question ID = 3027][Question Description = S1_qSNz_PG_EDU_Q99]

1. Both Statement | and Statement Il are correct/weret | siiz || Slall 31t &

[Option ID = 12105]
2. Both Statement | and Statement Il are incorrect/@ermt | 3z |l Slotl &t odt &

[Option ID = 12106]
3. Statement | is correct but Statement Il is incorrect/@memt | 31t 8, fbog et || 3@ ol 8 |

[Option ID = 12107]
4. Statement | is incorrect but Statement Il is correct/a@ermt | 3@ oidt 8, fpog werer |l & 3

[Option ID = 12108]
Correct Answer :-
e Both Statement | and Statement Il are correct/a@eror | iz 1l Slail 318 3

[Option ID = 12105]

60) Given below are two statements

Statement I: Teacher education should be provided in all standalone TEls as it requires high-quality content as well as
pedagogy and multidisciplinary inputs.

Statement Il: Regulatory efforts of teacher education regulatory body are able to curb the malpractices and able to enforce
basic standards for quality in teacher education.

In light of the above statements, choose the most appropriate answer from the options given below



ofial &1 werer Ru sme 3 :

oot - | ¢ 191g1m-118 @ 19k Seapee TEI 3 ygrot fopan Sironn anfaw ar=iifes $31di Soa syt arcll Al @ Arer-are fArgmronyy siiz 9g-
freriep forfafte & sragaar Bt 3

@l - |l : O1g1p {91811 fAfor3Ie formRI @ fAforIPIe YRIRT gyensii U= 3iag9l cieIol 3iiR fOrg1as {9181 3 spuradr @ fere gforRd HAreId] @I Py,
Dot A AL 3

IWRTb Decil B 3l i fororfciRaa faaeul 3 A 8t 30 ol :

[Question ID = 3028][Question Description = S1_qSNz_PG_EDU_Q100]

1. Both Statement | and Statement Il are correct/aerat | 3iiz |l Sleil &8t &

[Option ID = 12109]
2. Both Statement | and Statement Il are incorrect/@ermr | 3iiz || Sloil stctd 3

[Option ID = 12110]
3. Statement | is correct but Statement Il is incorrect/memt | 31 8, fpoq @l |l s 8 |

[Option ID = 12111]
4. Statement | is incorrect but Statement Il is correct/@ert | a1 311 &, fpog et | & 8

[Option ID = 12112]
Correct Answer :-
e Both Statement | and Statement Il are correct/aeror | iz 1l Srail 318 &

[Option ID = 12109]





